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Sl. No.1
QBID:30001

“What needs my Shakespeare for his honoured bones
The labour of an age in piled stones?

Or that his hallowed reliques should be hid

Under a star-ypointing pyramid?”

These lines are written by

1. Ben Jonson

2. John Milton

3. Robert Browning

4, William Wordsworth

(Option 1 [28301]) 1
(Option 2 [28302]) 2
(Option 3 [28303]) 3

(Option 4 [28304]) 4
Answer Given by Candidate : 1

Sl. No.2
QBID:30002

Who among the following praised Chaucer's translation of Roman de la rose?

1. Eustache Deschamps
2. Boccaccio

3. Jean de Meun

4. Guillaume de Lorris

(Option 1 [28305]) 1
(Option 2 [28306]) 2
(Option 3 [28307]) 3
(Option 4 [28308]) 4
Answer Given by Candidate : 2

Sl. No.3
QBID:30003

For The Unfallen is a book of poems written by

1. Ted Hughes
2. Sylvia Plath

3. Geoffrey Hill
4. A.E. Housman
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(Option 1 [28309])
(Option 2 [28310])
(Option 3 [28311])

(Option 4 [28312])
Answer Given by Candidate : 2

W N =

H

Sl. No.4
QBID:30004

“The Princess: A Medley” by Tennyson is

1. a lyric

2. an elegy

3. a narrative poem

4. a dramatic monologue

(Option 1 [28313]) 1
(Option 2 [28314]) 2
(Option 3 [28315]) 3

(Option 4 [28316]) 4
Answer Given by Candidate : 3

Sl. No.5
QBID:30005

Which of the following works is NOT written by P. B. Shelley?

1. The Mask of Anarchy

2. Queen Mab: A Philosophical Poem
3. The Vision of Jludgement

4. The Revolt of Islam

(Option 1 [28317]) 1
(Option 2 [28318]) 2
(Option 3 [28319]) 3
(Option 4 [28320]) 4
Answer Given by Candidate : 4

Sl. No.6
QBID:30006

In whose poem the readers meet Aunt Jennifer’s tigers?

1. Thom Gunn

2. Kamau Brathwaite
3. Roy Fisher

4. Adrienne Rich

(Option 1 [28321]) 1
(Option 2 [28322]) 2
(Option 3 [28323]) 3
(Option 4 [28324]) 4
Answer Given by Candidate : 3

Sl. No.7
QBID:30007
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Name the playwright who has written Larins Sahib.

1. Gieve Patel
2. Dina Mehta
3. Gurcharan Das
4. Pratap Sharma

(Option 1 [28325]) 1
(Option 2 [28326]) 2
(Option 3 [28327]) 3

(Option 4 [28328]) 4
Answer Given by Candidate : 3

Sl. No.8
QBID:30008

Who among the following has composed the lyrical drama Hellas?

1. Lord Byron

2. P. B. Shelley

3. William Wordsworth
4. John Keats

(Option 1 [28329]) 1
(Option 2 [28330]) 2
(Option 3 [28331]) 3
(Option 4 [28332]) 4
Answer Given by Candidate : 1

Sl. No.9
QBID:30009

Name the playwright who composed the play A Woman Killed with Kindness.

1. Francis Beaumont

2. Beaumont and Fletcher
3. Thomas Kyd

4. Thomas Heywood

(Option 1 [28333]) 1
(Option 2 [28334]) 2
(Option 3 [28335]) 3

(Option 4 [28336]) 4
Answer Given by Candidate : 3

Sl. No.10
QBID:30010

Name the celebrated actor who played the leading role in the first production of John QOsborne’s The Entertainer (1957).

1. Peter Brook

2. Laurence Olivier
3. Al Pacino

4. Robert De Niro

(Option 1 [28337]) 1
(Option 2 [28338]) 2
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(Option 3 [28339]) 3
(Option 4 [28340]) 4
Answer Given by Candidate : 3

Sl. No.11
QBID:30011

Which of the following statements holds true in regard to "Sentimental Comedy”?

1. It is a dramatic composition which satirises the manners and affectations of a class.

2. It is a dramatic composition that focuses on characters, each of them representing a type personality.

3. It is a dramatic composition that depicts how seriously young people take love, and how foolishly it makes them
behave.

4. It is a species of dramatic composition in which the virtues of private life are exhibited, rather than the vices exposed;
and the distresses rather than the faults of mankind make our interest in the piece.

(Option 1 [28345]) 1

(Option 2 [28346]) 2

(Option 3 [28347]) 3

(Option 4 [28348]) 4
Answer Given by Candidate : 4
Sl. No.12
QBID:30012

“I recognize that its heroine is a little prig and its hero a pompous ass, but | do not care.”
About which novel of Jane Austen is this statement made by Somerset Maugham?

1. Pride and Prejudice
2. Northanger Abbey
3. Sense and Sensibility
4, Mansfield Park

(Option 1 [28349]) 1
(Option 2 [28350]) 2
(Option 3 [28351]) 3

(Option 4 [28352]) 4
Answer Given by Candidate : 1

Sl. No.13
QBID:30013

In which year was R. L. Stevenson’s Treasure Island published?

1.1893
2. 1886
3. 1883
4. 1896

(Option 1 [28353]) 1
(Option 2 [28354]) 2
(Option 3 [28355]) 3

(Option 4 [28356]) 4
Answer Given by Candidate : 2

Sl. No.14
QBID:30014
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Which of the following novels is NOT written by Amitav Ghosh?

1. Sea of Poppies
2. Flood of Fire

3. Gun Island

4. English, August

(Option 1 [28357]) 1
(Option 2 [28358]) 2
(Option 3 [28359]) 3

(Option 4 [28360]) 4
Answer Given by Candidate : 2

Sl. No.15
QBID:30015

Which among the following is NOT an American Slave narrative?

1. The Interesting Narrative of the Life of Oloudah Equiano
2. Life and Adventure of Henry Bibb

3. Narrative of Soloman Northup

4. Songs of Enchantment

(Option 1 [28361]) 1
(Option 2 [28362]) 2
(Option 3 [28363]) 3
(Option 4 [28364]) 4
Answer Given by Candidate : 4

Sl. No.16
QBID:30016

Who among the following theorists has written on affective economies?

1. Franco Moretti
2. Bruno Latour
3. Sara Ahmed

4. Nigel Thrift

(Option 1 [28365]) 1
(Option 2 [28366]) 2
(Option 3 [28367]) 3

(Option 4 [28368]) 4
Answer Given by Candidate : 2

Sl. No.17
QBID:30017

Who among the following is NOT a Yale critic?

1. Geoffrey Hartman
2. Paul de Man

3. 1. Hillis Miller

4. Roland Barthes

(Option 1 [28369]) 1
(Option 2 [28370]) 2
(Option 3 [28371]) 3
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(Option 4 [28372]) 4
Answer Given by Candidate : 2
Sl. No.18
QBID:30018

‘Demythelogizing’ is a term associated with the works of

1. Claude Lévi Strauss

2. Ferdinand de Saussure
3. Rudolph Bultmann

4. Friedrich Schleiermacher

(Option 1 [28373]) 1
(Option 2 [28374]) 2
(Option 3 [28375]) 3
(Option 4 [28376]) 4
Answer Given by Candidate : 4
Sl. No.19
QBID:30019

Who among the following is known as a post-Marxist thinker?

1. Ernest Laclau

2. Antonio Gramsci
3. Theodor Adorno
4. Walter Benjamin

(Option 1 [28377]) 1
(Option 2 [28378]) 2
(Option 3 [28379]) 3

(Option 4 [28380]) 4
Answer Given by Candidate : 3

Sl. No.20
QBID:30020

Jonathan Bate's The Song of the Earth was published in

1. 2001
2. 1991
3. 2000
4. 1999

(Option 1 [28381]) 1
(Option 2 [28382]) 2
(Option 3 [28383]) 3

(Option 4 [28384]) 4
Answer Given by Candidate : 3

Sl. No.21
QBID:30021
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Who among the following is NOT a member of the Frankfurt School?

1. Louis Althusser

2. Max Horkheimer
3. Theodor Adorno
4, Herbert Marcuse

(Option 1 [28385]) 1
(Option 2 [28386]) 2
(Option 3 [28387]) 3

(Option 4 [28388]) 4
Answer Given by Candidate : 3

Sl. No.22
QBID:30022

Which of the following methaods is the oldest for teaching English language?

1. The Bilingual Method

2. The Grammar Translation Method
3. The Direct Method

4. The Situation Method

(Option 1 [28389]) 1
(Option 2 [28390]) 2
(Option 3 [28391]) 3
(Option 4 [28392]) 4
Answer Given by Candidate : 2

Sl. No.23
QBID:30023

In the area of theory and research known as Second Language Acquisition (SLA), the classroom is considered

1. an ideal model for research.

2. a site of no use.

3. a site that always produces language learning blockade.
4. an experimental laboratory.

(Option 1 [28393]) 1
(Option 2 [28394]) 2
(Option 3 [28395]) 3

(Option 4 [28396]) 4
Answer Given by Candidate : 3

Sl. No.24
QBID:30024

The arrival of corpus linguistics has revitalized

1. the writing of observation-based grammar.

2. the writing that does not care for grammar.

3. the use of long sentences in newspaper reporting.
4. the quality of newspaper reporting.

(Option 1 [28397]) 1
(Option 2 [28398]) 2
(Option 3 [28399]) 3
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(Option 4 [28400]) 4
Answer Given by Candidate : 3

Sl. No.25
QBID:30025

Which of the following is one of the DON'Ts of writing a dissertation or thesis:

1. Compiling a bibliography as soon as the work is started.

2. Avoid jargon wherever possible.

3. It should be kept in mind that a dissertation or a thesis should take the form of an argument in which the writer must
attempt to convince the reader of his or her case.

4. A researcher should not bother about the use of the proper scholarly conventions from the very beginning.

(Option 1 [28401]) 1
(Option 2 [28402]) 2
(Option 3 [28403]) 3

(Option 4 [28404]) 4
Answer Given by Candidate : 4

Sl. No.26
QBID:30026

In which year, did the ‘Indian Education Commission’ (The sixth commission in the history of Indian Education) under the
chairmanship of Dr. D. S. Kothari submit its report?

1. 1956
2. 1966
3. 1976
4. 1986

(Option 1 [28405]) 1
(Option 2 [28406]) 2
(Option 3 [28407]) 3

(Option 4 [28408]) 4
Answer Given by Candidate : 3

Sl. No.27
QBID:30027

Who was the Chairman of the University Education Commission of 19487

1. Babu Rajendra Prasad

2. D. 5. Kothari

3. Maulana Abul Kalam Azad
4. 5. Radhakrishnan

(Option 1 [28409]) 1
(Option 2 [28410]) 2
(Option 3 [28411]) 3

(Option 4 [28412]) 4
Answer Given by Candidate : 3

Sl. No.28
QBID:30028
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Which of the following is the first newspaper of India?

1. Hicky’s Bengal Gazette

2. Jhones’ Calcutta Gazette
3. William’s Indian Gazette
4. Salisbury’s Madras Gazette

(Option 1 [28413]) 1

(Option 2 [28414]) 2

(Option 3 [28415]) 3

(Option 4 [28416]) 4

Answer Given by Candidate : 1

Sl. No.29

QBID:30029
“The great object of the British Government ought to be the promotion of European literature and science among the
natives of India, all funds appropriated for the purpose of education would be best employed on English education alone.”
Who made the comment given above?

1. Lord Macaulay

2. Sir Charles Wood

3. Lord William Bentinck
4. Arthur Mayhew

(Option 1 [28417]) 1
(Option 2 [28418]) 2
(Option 3 [28419]) 3
(Option 4 [28420]) 4
Answer Given by Candidate : 1

Sl. No.30
QBID:30030

Todd Kachru in “Three Circles of English” observes that English speaking countries are separated into three groups.
Choose the correct answer from the options given below:

1. Central Circle, Middle Circle and Peripheral Circle
2. Primary Circle, Secondary Circle and Tertiary Circle
3. Inner Circle, Outer Circle and Expanding Circle

4, Inner Circle, Middle Circle and Quter Circle

(Option 1 [28421]) 1
(Option 2 [28422]) 2
(Option 3 [28423]) 3

(Option 4 [28424]) 4
Answer Given by Candidate : 3

Sl. No.31
QBID:30031
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Which one of the following is false about V. 5. Naipaul?

1. He was awarded the Nobel Prize in Literature in 2001.

2. He won the Booker Prize for his novel A House for Mr. Biswas.
3. He contributed his stories to the Trinidad Guardian.

4. He won the Somerset Maugham Award for his Miguel Street.

(Option 1 [28425]) 1
(Option 2 [28426]) 2
(Option 3 [28427]) 3
(Option 4 [28428]) 4
Answer Given by Candidate : 4

Sl. No.32
QBID:30032

Which one of the following is false?

1. An ideal literary researcher must be an insatiable reader.

2. An ideal literary researcher should not cast himself back into another age.

3. An ideal literary researcher should comprehend the current attitudes or the artistic assumptions.
4. An ideal literary researcher must have a vivid sense of history.

(Option 1 [28429]) 1
(Option 2 [28430]) 2
(Option 3 [28431]) 3

(Option 4 [28432]) 4
Answer Given by Candidate : 2

Sl. No.33
QBID:30033

Which of the following is true in the context of New Criticism?

1. It follows the tradition of Historical Criticism.

2. The main law of New Criticism is that it should be subjective analysis.

3. The distinctive procedure for a New Critic is explication.

4. The distinction between literary genres does play an essential role in New Criticism.

(Option 1 [28433]) 1
(Option 2 [28434]) 2
(Option 3 [28435]) 3

(Option 4 [28436]) 4
Answer Given by Candidate : 4

Sl. No.34
QBID:30034

The pamphlet The Power of Love (1643) proclaiming the importance of brotherhood as a means of achieving a radical

change in social relationships was written by

1. George Saintsbury
2. William Walwyn

3. FR. Leavis

4. Gerrard Winstanley

(Option 1 [28437]) 1
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(Option 2 [28438]) 2
(Option 3 [28439]) 3

(Option 4 [28440]) 4
Answer Given by Candidate : 3

Sl. No.35
QBID:30035

Francis Bacon’s The Advancement of Learning attempted to draw a distinction between two kinds of ‘truth’. Which are these?

1. Theological Truth and Scientific Truth
2. Theological Truth and Aesthetic Truth
3. Aesthetic Truth and Objective Truth

4. Metaphysical Truth and Aesthetic Truth

(Option 1 [28441]) 1
(Option 2 [28442]) 2
(Option 3 [28443]) 3
(Option 4 [28444]) 4
Answer Given by Candidate : 4

Sl. No.36
QBID:30036

“I shall be ambitious to have it said of me, that | have brought Philosophy out of Closets and Libraries, Schools and Colleges,
to dwell in Clubs and Assemblies, at Tea-Tables, and in Coffee- Houses.”
To whom do you attribute this famous statement?

1. Dr Samuel Johnson
2. Joseph Addison

3. Charles Lamb

4. Alexander Pope

(Option 1 [28445]) 1
(Option 2 [28446]) 2
(Option 3 [28447]) 3

(Option 4 [28448]) 4
Answer Given by Candidate : 4

Sl. No.37
QBID:30037

Dr Johnson's Dictionary of the English Language was published in

1. 1751
2. 1753
3. 1755
4. 1757

(Option 1 [28449]) 1
(Option 2 [28450]) 2
(Option 3 [28451]) 3
(Option 4 [28452]) 4
Answer Given by Candidate : 1

Sl. No.38
QBID:30038
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An Essay on the Principles of Human Action was written by

1. Charles Lamb

2. Jean Jacques Rousseau
3. William Godwin

4. William Hazlitt

(Option 1 [28453]) 1
(Option 2 [28454]) 2
(Option 3 [28455]) 3

(Option 4 [28456]) 4
Answer Given by Candidate : 4

Sl. No.39
QBID:30039

Which of the following is false about Frederick Douglass?

1. Douglass's autobiography belongs to the tradition of fugitive-slave narrative popular in the Morth before the Civil
War.

2. He provides a first-person account of his life spent in slavery.

3. He was famous as an orator, dedicated to a black liberation movement.

4. He wrote Up From Slavery.

(Option 1 [28457]) 1
(Option 2 [28458]) 2
(Option 3 [28459]) 3
(Option 4 [28460]) 4
Answer Given by Candidate : 3

Sl. No.40
QBID:30040

The phrase “structure of feeling” is attributed to

1. Lauren Berlant

2. Terry Eagleton

3. Raymond Williams

4. Eve Kosofsky Sedgwick

(Option 1 [28461]) 1
(Option 2 [28462]) 2
(Option 3 [28463]) 3

(Option 4 [28464]) 4
Answer Given by Candidate : 2

Sl. No.41
QBID:30041
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“A Valediction Forbidding Mourning” is written by

A. John Donne

B. John Milton

C. Adrienne Rich

D. Sylvia Plath

E. Robert Frost

Choose the correct answer from the options given below:

1. A and C only.
2. A and B only.
3.D and E only.
4. B and C only.

(Option 1 [28465]) 1
(Option 2 [28466]) 2
(Option 3 [28467]) 3

(Option 4 [28468]) 4
Answer Given by Candidate : 1

Sl. No.42
QBID:30042

Which of the following two poems are linked with each other in terms of form?
A. “The Last Ride Together”

B. “Ulysses”

C. "Upon Appleton House: To My Lord Fairfax”

D. "To Penshurst”

E. “The Waste Land”

Choose the eorrect answer from the options given below:

1. A and E only.
2. A and B only.
3. A and D only.
4. C and D only.

(Option 1 [28469]) 1
(Option 2 [28470]) 2
(Option 3 [28471]) 3

(Option 4 [28472]) 4
Answer Given by Candidate : 3

Sl. No.43
QBID:30043
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Which of the following poems are written by Alexander Pope?
A. The Dunciad

B. Moral Essays

C. Grongar Hill

D. Cooper’s Hill

E. Absalom and Achitophel

Choose the correct answer from the options given below:

1. A and C only.
2. B and E only.
3. A and B only.
4. C and D only.

(Option 1 [28473]) 1
(Option 2 [28474]) 2
(Option 3 [28475]) 3

(Option 4 [28476]) 4
Answer Given by Candidate : 2
Sl. No.44
QBID:30044

Identify the plays originally written by Vijay Tendulkar from the following:
A. The Cyclist and His Fifth Woman

B. Scandal in Fairyland

C. The Vultures and Encounter in Umbugland

D. Sakharam Binder

E. Fire and the Rain

Choose the eorrect answer from the options given below:

1.B, C and E only.
2. A, B and C only.
3. A, Cand D only.
4. A, B and D only.

(Option 1 [28477]) 1
(Option 2 [28478]) 2
(Option 3 [28479]) 3

(Option 4 [28480]) 4
Answer Given by Candidate : 3

Sl. No.45
QBID:30045
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Identify the plays written by Asif Currimbhoy from the following:
A. Princes

B. The Captives

C. An Experiment with Truth

D. Angkor

E. Dance Like a Man

Choose the correct answer from the options given below:

1. A, B and D only.
2. B, Cand D only.
3. A Band C only.
4. A, B and E only.

(Option 1 [28481]) 1
(Option 2 [28482]) 2
(Option 3 [28483]) 3

(Option 4 [28484]) 4
Answer Given by Candidate : 2

Sl. No.46
QBID:30046

Which of the following are the plays written by Robert Greene?
A. The Famous Chronicle of King Edward the First

B. Alphonsus

C. A Moon for the Misbegotten

D. The Old Wives' Tale

E. King of Aragon

Choose the eorrect answer from the options given below:

1.B and D only.
2. A and E only.
3.B and E only.
4. C and E only.

(Option 1 [28485]) 1
(Option 2 [28486]) 2
(Option 3 [28487]) 3

(Option 4 [28488]) 4
Answer Given by Candidate : 2

Sl. No.47
QBID:30047
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Which of the following two plays were written by W. B. Yeats?
A, The Land of Hearts Desire

B. Time and the Conways

C. The Silver Tassie

D. The Countess Cathleen

E. The Plough and the Stars

Choose the correct answer from the options given below:

1.Cand D anly.
2. A and D only.
3. A and E only.
4. B and E only.

(Option 1 [28489]) 1
(Option 2 [28490]) 2
(Option 3 [28491]) 3

(Option 4 [28492]) 4
Answer Given by Candidate : 1

Sl. No.48
QBID:30048

Which among the following are true in the context of Chinua Achebe?

A. He wrote Arrow of God and Things Fall Apart.

B. His “Novelist as Teacher” is a seminal essay in the context of African Literature.
C. The name of the tribe he depicted in Things Fall Apart is Igbo

D. He is a Kenyan born American litterateur.

E. He wrote the essay “An Abolition of English Department.”

Choose the eorrect answer from the options given below:

1. A, Cand D only.
2. A, BandE only.
3. A, B and Conly.
4. B, C and D only.

(Option 1 [28493]) 1
(Option 2 [28494]) 2
(Option 3 [28495]) 3

(Option 4 [28496]) 4
Answer Given by Candidate : 2

Sl. No.49
QBID:30049
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Identify the correct ones among the following:

A. The Apalogie for Poetrie was written by Sir Philip Sidney.

B. Sir Philip Sidney wrote the Apologie for Poetrie as a counterblast to Stephen Gosson's The Schoal of Abuse.
C. Stephen Gosson wrote The School of Abuse in the euphuistic style.

D. Sidney's style was characterised by neoclassical restraint.

E. Sidney and Gosson wrote their critical treatise in the eighteenth century.

Choose the correct answer from the options given below:

1. A, B and C only.
2. A, Cand D only.
3. A DandE only.
4. A, Cand E only.

(Option 1 [28497]) 1
(Option 2 [28498]) 2
(Option 3 [28499]) 3

(Option 4 [28500]) 4
Answer Given by Candidate : 4

Sl. No.50
QBID:30050

Which of the following works have NOT been written by Thomas Carlyle?
A. Of Heroes and Hero-Worship

B. The French Revolution

C. Of Human Bondage

D. The Hour and the Man

E. Hudibras

Choose the eorrect answer from the options given below:

1. A and B only.
2. A and C only.
3. A and D only.
4. A and E only.

(Option 1 [28501]) 1
(Option 2 [28502]) 2
(Option 3 [28503]) 3

(Option 4 [28504]) 4
Answer Given by Candidate : 3

Sl. No.51
QBID:30051
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Which of the following works have NOT been authored by John Stuart Mill?
A. Subjection of Women

B. Thoughts on Parliamentary Reform

C. Past and Present

D. Explorations

E. On Liberty

Choose the correct answer from the options given below:

1. A and B only.
2. Aand E only.
3. Cand D only.
4. B and E only.

(Option 1 [28505]) 1
(Option 2 [28506]) 2
(Option 3 [28507]) 3

(Option 4 [28508]) 4
Answer Given by Candidate : 1

Sl. No.52
QBID:30052

Which among the following are true in the context of literary research?
A. It is devoted to the enlightenment of criticism

B. It seeks to illuminate the work of art as it really is

C. It has no connection with the proffered information

D. It tries to see the writer as s/he really was

Choose the correct answer from the options given below:

1. A Cand D only.
2. B, Cand D only.
3. A Band D only.
4. A, B and C only.

(Option 1 [28509]) 1
(Option 2 [28510]) 2
(Option 3 [28511]) 3

(Option 4 [28512]) 4
Answer Given by Candidate : 2

Sl. No.53
QBID:30053

https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d 18/97
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Which among the following are false in the context of autographical research?

A. These can be accepted on face value.

B. These are usually idealized.

C. These are coloured by compelling motive of the desire for self-justification.

D. These are embroidered through the sheer exuberance of the artistic imagination.
Choose the correct answer from the options given below:

1. A, Cand D only.
2.B, Cand D only.
3. A, B and D only.
4, A, B, CandD.

(Option 1 [28513])
(Option 2 [28514])
(Option 3 [28515])

(Option 4 [28516])
Answer Given by Candidate : 3

W N =

H

Sl. No.54
QBID:30054

Which of the following are the key attributes and skills required in the context of tools and techniques for literary research?
A. Having an overview of the main online and printed sources relevant to the research.

B. Not participating in any online information networks as others may copy the work .

C. Getting to know a range of available online sources, and being able to evaluate these sources comparatively.

D. Using online and printed sources to identify and locate material archives.

E. Peer management technique.

Choose the correct answer from the options given below:

1. A, B and C only.
2.B, Cand E only.
3. A Cand D only.
4. A, B, Cand D only.

(Option 1 [28517]) 1
(Option 2 [28518]) 2
(Option 3 [28519]) 3

(Option 4 [28520]) 4
Answer Given by Candidate : 3

Sl. No.55
QBID:30055
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Which among the following are written by Mikhail Bakhtin?
A. White Mythology

B. Freudianism: A Marxist Critique

C. The Ideology of the Aesthetics

D. Rabelais and His World

E. Morphology of the Folktale

Choose the correct answer from the options given below:

1. A and C only.
2.B and D only.
3. A and E only.
4. B and C only.

(Option 1 [28521]) 1
(Option 2 [28522]) 2
(Option 3 [28523]) 3

(Option 4 [28524]) 4
Answer Given by Candidate : 1

Sl. No.56
QBID:30056

Which of the following are correctly matched?

A. John Keble — On the Healing Power of Poetry

B. Carl G. Jung — Writing and Difference

C. Jacques Derrida — Modern Man in Search of a Soul

D. Harold Bloom — The Anxiety of Influence

E. Kate Millett — Jacques Lacan: A Feminist Introduction
Choose the correct answer from the options given below:

1. B and C only.
2. A and D only.
3. A and E only.
4. B and D only.

(Option 1 [28525]) 1
(Option 2 [28526]) 2
(Option 3 [28527]) 3
(Option 4 [28528]) 4
Answer Given by Candidate : 3

Sl. No.57
QBID:30057
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Gilles Deleuze and Félix Guattari's Anti-Oedipus: Capitalism and Schizophrenia fuses two theoretical paradigms. They are
A. Marxism

B. Poststructuralism

C. Psychoanalysis

D. Feminism

Choose the correct answer from the options given below:

1. A and C only.
2. A and B only.
3. A and D only.
4. B and C only.

(Option 1 [28529]) 1
(Option 2 [28530]) 2
(Option 3 [28531]) 3
(Option 4 [28532]) 4
Answer Given by Candidate : 2

Sl. No.58
QBID:30058

Which of the two following books are written by Dipesh Chakrabarty?
A. Provincializing Europe: Postcolonial Thought and Historical Difference
B. The Subaltern Studies Reader

C. Identity and Violence

D. The Climate of History in a Planetary Age

E. in Other Worlds

Choose the correct answer from the options given below:

1. A and C only.
2. A and B only.
3. A and D only.
4. B and E only.

(Option 1 [28533]) 1
(Option 2 [28534]) 2
(Option 3 [28535]) 3

(Option 4 [28536]) 4
Answer Given by Candidate : 1

Sl. No.59
QBID:30059
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Which of the following two books have their roots in Foucauldian thoughts on sexuality?
A. Metahistory

B. Gender Trouble: Feminism and the Subversion of Identity

C. The Role of the Reader

D. Epistemology of the Closet

E. Sexual Politics

Choose the correct answer from the options given below:

1. B and C only.
2. A and D only.
3. A and C only.
4.B and D only.

(Option 1 [28537]) 1
(Option 2 [28538]) 2
(Option 3 [28539]) 3

(Option 4 [28540]) 4
Answer Given by Candidate : 4

Sl. No.60
QBID:30060

Which of the following are written by George Peele?

A. The Famous Chronicle of King Edward the First

B. A Moon for the Misbegotten

C. The Arraignment of Paris

D. The Scottish Historie of James the Fourth

E. The Old Wives' Tale

Choose the correct answer from the options given below:

1. B, C and D only.
2. A, Cand E only.
3. A Cand D only.
4.C, D and E only.

(Option 1 [28541]) 1
(Option 2 [28542]) 2
(Option 3 [28543]) 3

(Option 4 [28544]) 4
Answer Given by Candidate : 1

Sl. No.61
QBID:30061
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Which among the following are true in the context of Gabriel Garcia Marquez?
A. He was a Caribbean novelist, short-story writer, screenwriter, and journalist.
B. He was affectionately known as Gabo or Gabito throughout Latin America.
. He received the Nobel Prize in Literature in 1982.

D. Love in the Time of Cholera is a Memoir written by Marquez.

E. His novel One Hundred Years of Solitude was published in 1967.

Choose the correct answer from the options given below:

1. A, Cand D only.
2. B, Cand D only.
3. B, Cand E only.
4. A, Cand E only.

(Option 1 [28545]) 1
(Option 2 [28546]) 2
(Option 3 [28547]) 3

(Option 4 [28548]) 4
Answer Given by Candidate : 3

Sl. No.62
QBID:30062

Which of the following are the novels written by John Steinbeck?
A. The Naked and the Dead

B. The Grapes of Wrath

C. East of Eden

D. To Kill @ Mockingbird

E. Cannery Row

Choose the correct answer from the options given below:

1. A, Cand D only.
2.B, Cand E only.
3.C, D and E only.
4. A, D and E only.

(Option 1 [28549]) 1
(Option 2 [28550]) 2
(Option 3 [28551]) 3
(Option 4 [28552]) 4
Answer Given by Candidate : 3

Sl. No.63
QBID:30063
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Which of the following are the leading characters in the novels written by Mulk Raj Anand?
A, Munoo

B. Bakha

C. Sampath

D. Gangu

E. Dopdi

Choose the correct answer from the options given below:

1. B, Cand D only.
2. A, Cand E only.
3.C, D and E only.
4. A, B and D only.

(Option 1 [28553]) 1
(Option 2 [28554]) 2
(Option 3 [28555]) 3

(Option 4 [28556]) 4
Answer Given by Candidate : 1

Sl. No.64
QBID:30064

Identify the correct pairs:

A. Ewan McEwan — Amsterdam

B. Italo Calvino — If on a Winter’s Might A Traveller

C. Amitav Ghosh — The Circle of Reason

D.D M Thomas - Everest Hotel

E. Doris Lessing — The Testaments

Choose the correct answer from the options given below:

1. A, B and C only.
2. A, B andE only.
3. B, Cand D only.
4.C, D and E only.

(Option 1 [28557]) 1
(Option 2 [28558]) 2
(Option 3 [28559]) 3
(Option 4 [28560]) 4
Answer Given by Candidate : 3

Sl. No.65
QBID:30065
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Identify the correct pairs:

A. Aristotle — Rhetoric

B. Quintilian — Oratorical Institutions

C. C. Brooks and R. P. Warren — Understanding Fiction

D. Allen Tate — The Verbal Icon

E. Harold Bloom — The Great Tradition

Choose the correct answer from the options given below:

1. A, B and C only.
2. A, Band D only.
3.B, Cand E only.
4. B, D and E only.

(Option 1 [28561]) 1
(Option 2 [28562]) 2
(Option 3 [28563]) 3
(Option 4 [28564]) 4

Answer Given by Candidate : 2

Sl. No.66
QBID:30066

Match List | with List 11

List |

List 11

A. Rabindranath Tagore

I. Purdah and Other Poems

B. Muhammad Igbal

1. The Unfinished Man

C. Missim Ezekiel

lIl. The Child

D. Imtiaz Dharker

IV. The Secrets of the Self

Choose the correct answer from the options given below:

1. (A)-(I),
2. (A)-(IV)
3. (A)-(lI),
4. (A)-(111)

(B)-(1), (Q)
 (B)-
(
(

I

B)-(Il), (C)

(Option 1 [28565]) 1
(Option 2 [28566]) 2
(Option 3 [28567]) 3
(Option 4 [28568]) 4

1), (Q)-(1), (D)-(IV)
(1), (©)-(), (B)-(ln)
B)-(IV), (Q)-(1. (D)-()

) -(1). (D)-(IV)

Answer Given by Candidate : 2

Sl. No.67
QBID:30067

https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d
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Match List | with List 11

List | List 11

A. Emily Dickinson I. Woman to Man

B. Kath Walker Il. Banking Potatoes

C. Judith Wright lll. Because | could not stop for Death
D. Yusef Komunyakaa |IV. We Are Going

Choose the correct answer from the options given below:

1. (A)=(1, (B)-(I), (C)-(1), (B)-(IV)
2. (A)-(1), (B)-(11). (C)-(1), (D)-(IV)
3. (A)=(1), (B)-(1n, (Q)-(1), (B)-(IV)
4. (A)-(l), (B)-(V), (C)-(1. (D)-()

(Option 1 [28569]) 1
(Option 2 [28570]) 2
(Option 3 [28571]) 3

(Option 4 [28572]) 4
Answer Given by Candidate : 3
Sl. No.68
QBID:30068

Match List | with List 11

List | List 11
A. Blood l. Phlegmatic

B. Yellow Bile|ll. Sanguine

C. Phlegm  |lll. Melancholy
D. Black bile|IV. Choleric

Choose the correct answer from the options given below:

1. A-l, B-II C-1E, DAV
2. A-ll, B-1V, C-1, D~
3. A-IV, B- N, C-lI, D-I
4. A-IlI, B-I, C-lI, D-1V

(Option 1 [28573]) 1
(Option 2 [28574]) 2
(Option 3 [28575]) 3

(Option 4 [28576]) 4
Answer Given by Candidate : 3

Sl. No.69
QBID:30069
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Match List | with List 1

List | List 11

A. Some are born great, others achieve greatness. I. The Tempest

B. Love looks not with the eyes, but with the mind,
o . . . Il. The Comedy of Errors
And therefore is winged Cupid painted blind.

C. lll deeds is doubled with an evil word. lll. A Midsummer Night's Dream

D. We are such stuff as dreams are made on, and our little life is rounded with a sleep. |IV. Twelfth Night

Choose the correct answer from the options given below:

1. A-IV, B-1ll, C-11, D-I
2. A-l, B-1l, C-lIl, D-1V
3. A-lll, B- IV, C-I, D-lI
4. A-ll, B-ll, C-I, D-1V

(Option 1 [28577]) 1
(Option 2 [28578]) 2
(Option 3 [28579]) 3

(Option 4 [28580]) 4
Answer Given by Candidate : 1

Sl. No.70
QBID:30070

Match List | with List 11

List | List Il
A. Aporia I. Marxism
B. Scapes II. Psychoanalysis

C. Interpellation|lll. Deconstruction
D. Mirror Stage |IV. Globalisation

Choose the correct answer from the options given below:

1. (A)-=(1), (B)-(1n, (Q)-(1), (D)-(IV)
2. (A)-(V), (B)-(1), (C)-(l), (D)-(1m)
3. (A)-=(1, (B)-(IV), (Q)-(1). (D)-(IN)
4. (A)-(1), (B)-(I), (Q)-(1). (D)-(IV)

(Option 1 [28581])
(Option 2 [28582])
(Option 3 [28583])

(Option 4 [28584])
Answer Given by Candidate : 3

Sl. No.71
QBID:30071

W N =

H
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List |

List Il

\Act

A. The Political Unconscious : Narrative as a Socially Symbolic

. Joseph Carroll

B. The Pleasure of the Text

IIl. Monigue Wittig

C. The Straight Mind and Other Essays

IIl. Roland Barthes

D. Literary Darwinism: Evelution, Human Nature and Literature

IV, Fredric Jameson

Choose the correct answer from the options given below:

1. (A)=(10, (B)-(1m), (Q)-(1), (D)-(IV)
2. (A)-(1), (B)-(IV), (Q)-(1). (D)-(1m)
3. (A)=(1), (B)-(IV), (Q)-(IN), (D)-(1)
4. (A)-(IV), (B)-(m, (C)-(1n), (O)-(1)

(Option 1 [28585]) 1
(Option 2 [28586]) 2
(Option 3 [28587]) 3

(Option 4 [28588]) 4
Answer Given by Candidate : 3
Sl. No.72
QBID:30072

Match List | with List 11

List 1 List I

A. The Famished Road

I. Buchi Emecheta

B. The Bride Price

Il. Nadine Gordimer

C. Half of a Yellow Sun

lI. Ben Okri

D. The Lying Days

IV. Chimamanda Ngozi Adichie

Choose the correct answer from the options given below:

TA-N,B-1,C-IV,D-1
2ZA-NLB-I,C-IV,D-1
A-IV.B-NI,C-1,D-1
4 A-ILBE-IV,C-1,D-1

(Option 1 [28589]) 1
(Option 2 [28590]) 2
(Option 3 [28591]) 3

(Option 4 [28592]) 4
Answer Given by Candidate : 2

Sl. No.73
QBID:30073
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Match List | with List 1

List | List 1l

A. Ratanbai: A Sketch of a Bombay High Caste Hindu Young Wife|l. Krupabai Satthianadhan
B. The Hindoo Wife or The Enchanted Fruit II. Shevantibai M. Nikambe
C. Kamala, A Story of Hindu Life lll. Toru Dutt

D. Bianca or The Young Spanish Maiden IV. Raj Lakshmi Debi

Choose the correct answer from the options given below:

TA-LB-lI,C-IV,D-1
2ZA-NL,B-1I,C-IV,D-1
JA-ILB-IV,C-1,D-1
4A-WV,B-I,C-LD-1l

(Option 1 [28593]) 1
(Option 2 [28594]) 2
(Option 3 [28595]) 3

(Option 4 [28596]) 4
Answer Given by Candidate : 2
Sl. No.74
QBID:30074

Match List | with List 11

List 1 List Il
A. Richard Wright I. A Mercy
B. Toni Morrison 1. Kindred

C. Barbara Chase Riboud|lll. American Hunger

D. Octavia Butler IV. Sally Hemings

Choose the correct answer from the options given below:

TA-N,B-1,C-IV,D-1l
2ZA-NLB-I,C-IV,D-1
JA-IVB-IILC-ILD-I
4 A-ILE-IV.C-LD-1

(Option 1 [28597]) 1
(Option 2 [28598]) 2
(Option 3 [28599]) 3

(Option 4 [28600]) 4
Answer Given by Candidate : 3

Sl. No.75
QBID:30075
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Match List | with List 11

List | List 11
A M. K. Naik . The Indian Contribution to English Literature
B. David McCutchion |ll. A History of Indian English Literature

C. A. R Srinivasa lyengar|lll. English in India: lts Present and Future
D. V. K Gokak V. Indian Writing in English: Critical Essays

Choose the correct answer from the options given below:

1. A-l, B-II, C-1V, D-11I
2. A-N11, B- 1, C-I, D-IV
3. A-ll, B-IV, C-I, D-11I
4. A-IV, B-1, C-lI1, D-II

(Option 1 [28601]) 1
(Option 2 [28602]) 2
(Option 3 [28603]) 3

(Option 4 [28604]) 4
Answer Given by Candidate : 2

Sl. No.76
QBID:30076

Choose the correct chronological sequence in which the following texts were published.
A. The Tower

B. The Hind and the Panther

C. The Wild Swans at Coole

D. Mac Flecknoe

E. The Whitsun Weddings

Choose the correct answer from the options given below:

1T.ABDEC
2B CAED
3.BACDE
4.D,B,CAE

(Option 1 [28605]) 1
(Option 2 [28606]) 2
(Option 3 [28607]) 3

(Option 4 [28608]) 4
Answer Given by Candidate : 1

Sl. No.77
QBID:30077
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Arrange the following poets in accordance with their years of birth.
A. George Herbert

B. Edmund Spenser

C. Philip Sidney

D. John Donne

E. Oliver Goldsmith

Choose the correct answer from the options given below:

1T.ABDCE
2B CDAE
3.EBADC
4.4 D EEBC

(Option 1 [28609]) 1
(Option 2 [28610]) 2
(Option 3 [28611]) 3

(Option 4 [28612]) 4
Answer Given by Candidate : 2

Sl. No.78
QBID:30078

Find the chronological order of publication of the given works:
A. Darwin’s Origin of Species

B. Macaulay’s “Essay on Milton”

C. Stevenson’s Treasure Island

D. Browning's “Pauline”

E. Arnold Bennet's Old Wives Tale

Choose the correct answer from the opticns given below:

1A B CDE
2.BDACE
3.C,D,ABE
4.D,EACE

(Option 1 [28613]) 1
(Option 2 [28614]) 2
(Option 3 [28615]) 3
(Option 4 [28616]) 4
Answer Given by Candidate : 1

Sl. No.79
QBID:30079
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Find the chronological order of the writers in terms of their years of birth:

A. Jane Austen

B. Henry Fielding

C. James M. Barrie

D. Richard Doddridge Blackmore

E. William Makepeace Thackeray

Choose the correct answer from the options given below:

1T.ABCDE
2B AEDC
3.CDABE
4.0, B A EC

(Option 1 [28617]) 1
(Option 2 [28618]) 2
(Option 3 [28619]) 3

(Option 4 [28620]) 4
Answer Given by Candidate : 4
Sl. No.80
QBID:30080

Find the chronological order of the writers in terms of the period they belonged to:

A. Richard Steele
B. Charles Lamb
C. John Dryden

D. Francis Bacon
E. Matthew Arnold

Choose the correct answer from the opticns given below:

1A B CDE
2.B.DECA
3.C,B D AE
4.D,C A BE

(Option 1 [28621]) 1
(Option 2 [28622]) 2
(Option 3 [28623]) 3

(Option 4 [28624]) 4
Answer Given by Candidate : 3

Sl. No.81
QBID:30081
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Find the chronological order of publication of the given works:
A. Rajmohan’s Wife

B. A Bend in the Ganges

C. Kanthapura

D. Untouchable

E. Distant Drum

Choose the correct answer from the options given below:

1T.ABCDE
2ACDEE
3.ADCEE
4. A ED CE

(Option 1 [28625]) 1
(Option 2 [28626]) 2
(Option 3 [28627]) 3

(Option 4 [28628]) 4
Answer Given by Candidate : 3
Sl. No.82
QBID:30082

Find the chronological order of publication of Charles Dickens’s novels:

A. Oliver Twist

B. Dombey and Sons

C. Pickwick Papers

D. Bleak House

E. David Copperfield

Choose the correct answer from the options given below:

1T.ADCE.E
2D, EBCA
3.B,D.CAE
4.C,ABDE

(Option 1 [28629]) 1
(Option 2 [28630]) 2
(Option 3 [28631]) 3

(Option 4 [28632]) 4
Answer Given by Candidate : 4

Sl. No.83
QBID:30083
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Find the chronological order of publication of the given works:
A. Boswell's Life of Johnsan

B. Hobbes's Leviathan

C. Pepys's Diary

D. Bunyan's Pilgrim’s Progress

E. Locke’s Human Understanding

Choose the correct answer from the options given below:

1T.B,.CDEA
2ACDEE
3.0 ABE
4.0, EACE

(Option 1 [28633]) 1
(Option 2 [28634]) 2
(Option 3 [28635]) 3
(Option 4 [28636]) 4
Answer Given by Candidate : 3

Sl. No.84
QBID:30084

Find the chronological order of publication of the given works:
A. Structuralist Poetics

B. Course in General Linguistics

C. The Pursuit of Signs

D. The Pleasure of the Text

E. The Implied Reader

Choose the correct answer from the options given below:

1T.ACDEEB
2.BDEAC
3.0 ABE
4.D,EACE

(Option 1 [28637]) 1
(Option 2 [28638]) 2
(Option 3 [28639]) 3

(Option 4 [28640]) 4
Answer Given by Candidate : 1

Sl. No.85
QBID:30085
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): From a sociolinguistic point of view, mainstream SLA studies remain asocial—the social import of learning to
interact through language remains hidden.

Reason (R): A sociolinguistic perspective focusses on the linguistic system as well as on a concern with specific items of
pragmatic and discourse development and rejects the tendency of looking at language as a set of norms, at language
diversity and ideologies.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R} is the correct explanation of (A).
2. Both (A) and (R) are correct and (R) is the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4, (&) is not correct but (R) is correct.

(Option 1 [28641]) 1
(Option 2 [28642]) 2
(Option 3 [28643]) 3
(Option 4 [28644]) 4
Answer Given by Candidate : 2

Sl. No.86
QBID:30086

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reasaon (R).
Assertion (A): In extensive reading, the teachers play the main role.

Reason (R): The aim of extensive reading is to enrich learners’ knowledge.

In light of the above statements, chocse the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct and (R) is the correct explanation of (A).
3. (A) is correct but (R) is not correct.
4, (&) is not correct but (R) is correct.

(Option 1 [28645]) 1
(Option 2 [28646]) 2
(Option 3 [28647]) 3

(Option 4 [28648]) 4
Answer Given by Candidate : 4

Sl. No.87
QBID:30087

https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d 35/97



3/24/23, 9:37 AM https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d

Given below are two statements:

Statement I: "Anagenesis” is the final part of the drama just after the climax in which there is resolution for any canflicts left
in the plot.

Statement II: "Anagenesis” is the turning point of the play where audience observes unpredictable change in the play.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement 1l is true.

(Option 1 [28649]) 1
(Option 2 [28650]) 2
(Option 3 [28651]) 3

(Option 4 [28652]) 4
Answer Given by Candidate : 4

Sl. No.88
QBID:30088

Given below are two statements:

Statement I: It is true that there is an analogy between the works of an author and the experiences of his life.
Statement II: The works may be seen as an incomplete translation of the life.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true.

(Option 1 [28653]) 1
(Option 2 [28654]) 2
(Option 3 [28655]) 3

(Option 4 [28656]) 4
Answer Given by Candidate : 1

Sl. No.89
QBID:30089
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Given below are two statements:

Statement I: Things acquire a rational signification, and not only one of simple usage, because an other is associated with
my relations with them.

Statement II: In designating a thing, | designate it to the other.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement 1l is true.

(Option 1 [28657]1) 1
(Option 2 [28658]) 2
(Option 3 [28659]) 3

(Option 4 [28660]) 4
Answer Given by Candidate : 3

Sl. No.90
QBID:30090

Given below are two statements:

Statement I: The poststructuralists’ genre critics suggest that the way to ‘de-essentialize” genre is to re-cast it in terms of
discourse.

Statement II: But while the poststructuralist move toward dialectical exchange and ideology is both useful and necessary,
conceiving of genre primarily in terms of discourse reveals certain limitations that are intrinsic to poststructuralism’s basic
approach to discourse and to the relationship envisioned between discourse and subjectivity.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(Option 1 [28661]) 1
(Option 2 [28662]) 2
(Option 3 [28663]) 3

(Option 4 [28664]) 4
Answer Given by Candidate : 2

Sl. No.91
QBID:30091
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Read the following poem and answer the questions that follows:

Are You There?

My father and | shove back the furniture
to the four walls of the sitting room

then lie on the carpet wearing blindfolds,
his left hand holding my left hand.

Are you there, Moriarty? he enquires,
before tightening (I imagine) the grip

on his rolled-up copy of yesterday’s Times.
There is only one possible answer to that.

| give it while rolling away to the side

but still clasping his hand, still in range,

and sure enough he manages a direct hit.

Now it is my turn, but the moment | lift

my weapon | realise there is no reason

to continue. | can tell from his stillness,

and the chill and stiffness of his fingers,

he has been dead for a good while already.
Andrew Motion

The poet and his father shove back the furniture to

1. sleep well.

2. to play a game.

3. to create space for more furniture.
4. to lie down to contemplate.

(Option 1 [28665]) 1
(Option 2 [28666]) 2
(Option 3 [28667]) 3

(Option 4 [28668]) 4
Answer Given by Candidate : 2

Sl. No.92
QBID:30092
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Read the following poem and answer the questions that follows:

Are You There?

My father and | shove back the furniture
to the four walls of the sitting room

then lie on the carpet wearing blindfolds,
his left hand holding my left hand.

Are you there, Moriarty? he enquires,
before tightening (I imagine) the grip

on his rolled-up copy of yesterday’s Times.
There is only one possible answer to that.

| give it while rolling away to the side

but still clasping his hand, still in range,

and sure enough he manages a direct hit.

Now it is my turn, but the moment | lift

my weapon | realise there is no reason

to continue. | can tell from his stillness,

and the chill and stiffness of his fingers,

he has been dead for a good while already.
Andrew Motion

Moriarty is the name of

1. the poet.

2. the poet's dog.

3. a game played by two or more blindfolded persons.
4. the poet's mother.

(Option 1 [28669]) 1
(Option 2 [28670]) 2
(Option 3 [28671]) 3
(Option 4 [28672]) 4
Answer Given by Candidate : 1

Sl. No.93
QBID:30093
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Read the following poem and answer the questions that follows:

Are You There?

My father and | shove back the furniture
to the four walls of the sitting room

then lie on the carpet wearing blindfolds,

his left hand holding my left hand.

Are you there, Moriarty? he enquires,
before tightening (I imagine) the grip

on his rolled-up copy of yesterday’s Times.
There is only one possible answer to that.

| give it while rolling away to the side

but still clasping his hand, still in range,

and sure enough he manages a direct hit.

Now it is my turn, but the moment | lift

my weapon | realise there is no reason

to continue. | can tell from his stillness,

and the chill and stiffness of his fingers,

he has been dead for a good while already.
Andrew Motion

Which one of the following statements is true?

1. The poet imagines that his father tightens his grip on the rolled-up copy of Times.
2. The poet's father tightens his grip on the rolled-up copy of Times.

3. The poet is sure that his father tightens his grip on the rolled-up copy of Times.

4. The poet sees his father tightening his grip on the rolled-up copy of Times.

(Option 1 [28673]) 1
(Option 2 [28674]) 2
(Option 3 [28675]) 3
(Option 4 [28676]) 4
Answer Given by Candidate : 1

Sl. No.94
QBID:30094
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Read the following poem and answer the questions that follows:

Are You There?

My father and | shove back the furniture
to the four walls of the sitting room

then lie on the carpet wearing blindfolds,
his left hand holding my left hand.

Are you there, Moriarty? he enquires,
before tightening (I imagine) the grip

on his rolled-up copy of yesterday’s Times.
There is only one possible answer to that.

| give it while rolling away to the side

but still clasping his hand, still in range,

and sure enough he manages a direct hit.

Now it is my turn, but the moment | lift

my weapon | realise there is no reason

to continue. | can tell from his stillness,

and the chill and stiffness of his fingers,

he has been dead for a good while already.
Andrew Motion

The ‘weapon’ menticned in the first line of the fourth stanza of the poem is

1. a knife.

2. a rolled-up newspaper.
3. a scissor.

4. a stick.

(Option 1 [28677]) 1
(Option 2 [28678]) 2
(Option 3 [28679]) 3
(Option 4 [28680]) 4
Answer Given by Candidate : 2

Sl. No.95
QBID:30095
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Read the following poem and answer the questions that follows:

Are You There?

My father and | shove back the furniture
to the four walls of the sitting room

then lie on the carpet wearing blindfolds,
his left hand holding my left hand.

Are you there, Moriarty? he enquires,
before tightening (I imagine) the grip

on his rolled-up copy of yesterday’s Times.
There is only one possible answer to that.

| give it while rolling away to the side

but still clasping his hand, still in range,

and sure enough he manages a direct hit.

Now it is my turn, but the moment | lift

my weapon | realise there is no reason

to continue. | can tell from his stillness,

and the chill and stiffness of his fingers,

he has been dead for a good while already.
Andrew Motion

In the last stanza of the poem,

1. the poet is sure of his father's death.

2. the poet imagines his father to be dead.

3. the poet does not know whether his father is alive.
4. the poet wildly guesses that his father is dead.

(Option 1 [28681]) 1
(Option 2 [28682]) 2
(Option 3 [28683]) 3
(Option 4 [28684]) 4
Answer Given by Candidate : 1

Sl. No.96
QBID:30096
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Read the following passage and answer the questions that follow:

In this sense, one can think of literature less as some inherent quality or set of qualities displayed by certain kinds of writing
all the way from Beowulf to Virginia Woolf, than as a number of ways in which people relate themselves to writing. It would
not be easy to isolate, from all that has been variously called ‘literature’, some constant set of inherent features. In fact, it
would be as impossible as trying to identify the single distinguishing feature which all games have in common. There is no
‘essence’ of literature whatsoever. Any bit of writing may be read 'non-pragmatically’, if that is what reading a text as
literature means, just as any writing may be read ‘poetically’. If | pore over the railway timetable not to discover a train
connection but to stimulate in myself general reflections on the speed and complexity of modern existence, then | might be
said to be reading it as literature. John M. Ellis has argued that the term ‘literature’ operates rather like the word ‘weed"”
weeds are not particular kinds of plant, but just any kind of plant which for some reason or another a gardener does not
want around. Perhaps ‘literature” means something like the opposite: any kind of writing which for some reason or another
somebody values highly. As the philosophers might say, ‘literature’ and ‘weed’ are functional rather than ontological terms:
they tell us about what we do, not about the fixed being of things.

What is the implication of the statement: “In this sense, one can think of literature less as some inherent quality or set of
qualities displayed by certain kinds of writing all the way from Beowulf to Virginia Woolf, than as a number of ways in which
people relate themselves to writing"?

1. Literature has values that are constant and universal for all classes and races.

2. Literature has a moral dimension, which cannot be superseded by any other values.

3. Literature has values that may be interpreted differently by different subject-positions.
4. The inherent quality of literature is its literariness.

(Option 1 [28685]) 1
(Option 2 [28686]) 2
(Option 3 [28687]) 3

(Option 4 [28688]) 4
Answer Given by Candidate : 3

Sl. No.97
QBID:30097

Read the following passage and answer the questions that follow:

In this sense, one can think of literature less as some inherent quality or set of qualities displayed by certain kinds of writing
all the way from Beowulf to Virginia Woolf, than as a number of ways in which people relate themselves to writing. It would
not be easy to isolate, from all that has been variously called ‘literature’, some constant set of inherent features. In fact, it
would be as impossible as trying to identify the single distinguishing feature which all games have in common. There is no
‘essence’ of literature whatsoever. Any bit of writing may be read 'non-pragmatically’, if that is what reading a text as
literature means, just as any writing may be read 'poetically’. If | pore over the railway timetable not to discover a train
connection but to stimulate in myself general reflections on the speed and complexity of modern existence, then | might be
said to be reading it as literature. John M. Ellis has argued that the term ‘literature’ operates rather like the word ‘weed"
weeds are not particular kinds of plant, but just any kind of plant which for some reason or another a gardener does not
want around. Perhaps 'literature’ means something like the opposite: any kind of writing which for some reason or another
somebody values highly. As the philosophers might say, ‘literature’ and ‘weed’ are functional rather than ontological terms:

they tell us about what we do, not about the fixed being of things.
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What is the implication of the phrase, “there is no ‘essence’ of literature whatsoever” in the passage?

1. There is no sensibility in literary texts.
2. There is no central meaning in literary texts.
3. There is no aesthetic consideration in literature.

4. There is no rational logic in literature.

(Option 1 [28689]) 1
(Option 2 [28690]) 2
(Option 3 [28691]) 3
(Option 4 [28692]) 4
Answer Given by Candidate : 2

Sl. No.98
QBID:30098

Read the following passage and answer the questions that follow:

In this sense, one can think of literature less as some inherent quality or set of qualities displayed by certain kinds of writing
all the way from Beowulf to Virginia Woolf, than as a number of ways in which people relate themselves to writing. It would
not be easy to isolate, from all that has been variously called ‘literature’, some constant set of inherent features. In fact, it
would be as impossible as trying to identify the single distinguishing feature which all games have in commaon. There is no
‘essence’ of literature whatsocever. Any bit of writing may be read 'non-pragmatically’, if that is what reading a text as
literature means, just as any writing may be read ‘'poetically’. If | pore over the railway timetable not to discover a train
connection but to stimulate in myself general reflections on the speed and complexity of modern existence, then | might be
said to be reading it as literature. John M. Ellis has argued that the term ‘literature’ operates rather like the word ‘weed"
weeds are not particular kinds of plant, but just any kind of plant which for some reason or another a gardener does not
want around. Perhaps ‘literature” means something like the opposite: any kind of writing which for some reason or another
somebody values highly. As the philosophers might say, ‘literature’ and ‘weed’ are functional rather than ontological terms:
they tell us about what we do, not about the fixed being of things.

What is the meaning of the term “non-pragmatic” used in the passage?

1. Scientific
2. Rational
3. Practical
4, Affective

(Option 1 [28693]) 1
(Option 2 [28694]) 2
(Option 3 [28695]) 3

(Option 4 [28696]) 4
Answer Given by Candidate : 2

Sl. No.99
QBID:30099
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Read the following passage and answer the questions that follow:

In this sense, one can think of literature less as some inherent quality or set of qualities displayed by certain kinds of writing
all the way from Beowulf to Virginia Woolf, than as a number of ways in which people relate themselves to writing. It would
not be easy to isolate, from all that has been variously called ‘literature’, some constant set of inherent features. In fact, it
would be as impossible as trying to identify the single distinguishing feature which all games have in common. There is no
‘essence’ of literature whatsoever. Any bit of writing may be read 'non-pragmatically’, if that is what reading a text as
literature means, just as any writing may be read ‘poetically’. If | pore over the railway timetable not to discover a train
connection but to stimulate in myself general reflections on the speed and complexity of modern existence, then | might be
said to be reading it as literature. John M. Ellis has argued that the term ‘literature’ operates rather like the word ‘weed"”
weeds are not particular kinds of plant, but just any kind of plant which for some reason or another a gardener does not
want around. Perhaps ‘literature” means something like the opposite: any kind of writing which for some reason or another
somebody values highly. As the philosophers might say, ‘literature’ and ‘weed’ are functional rather than ontological terms:
they tell us about what we do, not about the fixed being of things.

What is the significance of the analogy drawn between “weed" and “literature” in the context of the passage?

1. They do not serve any descriptive function.

2. They serve some prescriptive functions.

3. They are considered expendable by deterministic systems.
4. They are both subterranean beings.

(Option 1 [28697]) 1
(Option 2 [28698]) 2
(Option 3 [28699]) 3

(Option 4 [28700]) 4
Answer Given by Candidate : 3

Sl. No.100
QBID:300100

Read the following passage and answer the questions that follow:

In this sense, one can think of literature less as some inherent quality or set of qualities displayed by certain kinds of writing
all the way from Beowulf to Virginia Woolf, than as a number of ways in which people relate themselves to writing. It would
not be easy to isolate, from all that has been variously called ’literature’, some constant set of inherent features. In fact, it
would be as impossible as trying to identify the single distinguishing feature which all games have in common. There is no
‘essence’ of literature whatsocever. Any bit of writing may be read 'non-pragmatically’, if that is what reading a text as
literature means, just as any writing may be read 'poetically’. If | pore over the railway timetable not to discover a train
connection but to stimulate in myself general reflections on the speed and complexity of modern existence, then | might be
said to be reading it as literature. John M. Ellis has argued that the term ‘literature’ operates rather like the word ‘weed"
weeds are not particular kinds of plant, but just any kind of plant which for some reason or another a gardener does not
want around. Perhaps 'literature’ means something like the opposite: any kind of writing which for some reason or another
somebody values highly. As the philosophers might say, ‘literature’ and ‘weed’ are functional rather than ontological terms:
they tell us about what we do, not about the fixed being of things.
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What is the meaning of the word "ontological™?

1. Dealing with the study of "knowledge systems.
2. Dealing with the study of "being"”.

3. Dealing with the study of “saciety”.

4. Dealing with the study of "nature”.

(Option 1 [28341]) 1
(Option 2 [28342]) 2
(Option 3 [28343]) 3

(Option 4 [28344]) 4
Answer Given by Candidate : 1

Sl. No.101
QBID:22201001
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The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFQ), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),

respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank

Mumber of Vacant Posts

800

940

600

820

450

mm O I

560

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank

Breakup (%)

ITO 11 %
AFO 35%
LO 10%
FE 26%
TO 8%
PO 10
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frafafaa aiferer-1 ok aiferer-2 . 6 31 A -F % a1 4170 UST BT 3reT - 3re fawor Inie & ofr &9 4 6 fim 2w
F PP F rawgedr TR U (%) TR e e fAaw & fF waw: org & sftert (o & o), Py é
st (T uw o), fafy aftrerd (o o), ffta srderdt (@ €), Fo-itet sftrert (& ot ) o vidwridt siftrer
(@ 3it) 81 TS Ft ur ufvwa 91 6 ¥ F fore ware #1 aifereT & Rw T siiwet ¥ oy WR Ul &1 39w gl

dIfei®T -1 : s®HaR Rad ug

o (Nad gl @1 9@
A (800

B[940

C |600

D (820

E |450

F |s60

TIIHT -2 : UGl &1 HedR WaRid e 3T fgarm
o § dHax (faavon (9)
ITO 1%

AFO 35%

L0 10%

FE 26%

TO 8%

PO 10

Banks A and C recruited ITOs as per given requirement. After few days, some of the newly employed ITOs left Bank A and

joined Bank C. The number of new recruits of ITOs in Bank A and Bank C have now become equal. The percentage of new
recruits who left Bank A is

1.12.5%
2.22.5%
3. 39%
4. 78%

(Option 1 [28101]) 1
(Option 2 [28102]) 2
(Option 3 [28103]) 3
(Option 4 [28104]) 4

A HR C o A T TR HIaRdmdl & HIUR 1 o1 Al &l gl @1 $F 64l & a6, B 4a- g0 15 ¢ Hl 4 §@ A Bl
BledH, dh C DI Salg DR (01| d9b A AR dcb ¢ T 79-Fga AHTs <1 2l &1 U1 26 sR16R 5l TR ¢ | §b A U BISDHL o
qre a- g iRl BT Ui fha g 2

1.12.5%
2.22.5%
3. 39%
4. 78%

https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d 48/97



3/24/23, 9:37 AM https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d
(Option 1 [28101]) 1
(Option 2 [28102]) 2
(Option 3 [28103]) 3

(Option 4 [28104]) 4
Answer Given by Candidate : 1

Sl. No.102
QBID:22201002
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The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFQ), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),

respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank

Mumber of Vacant Posts

800

940

600

820

450

mm O I

560

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank

Breakup (%)

ITO 11 %
AFO 35%
LO 10%
FE 26%
TO 8%
PO 10
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frafafaa aiferer-1 ok aiferer-2 . 6 31 A -F % a1 4170 UST BT 3reT - 3re fawor Inie & ofr &9 4 6 fim 2w
F PP F rawgedr TR U (%) TR e e fAaw & fF waw: org & sftert (o & o), Py é
st (T uw o), fafy aftrerd (o o), ffta srderdt (@ €), Fo-itet sftrert (& ot ) o vidwridt siftrer
(@ 3t ) B TS F gE ufewa 910t 6 §HT & forw war €1 arfereT & fRw v siwst F onuw R ust &1 3w i

dIfei®T -1 : s®HaR Rad ug

a4

ad ual @1 IEm

800

940

600

820

450

mm O I

560

o § dHax (faavon (9)
ITO 1%
AFO 35%

LO 10%

FE 26%

TO 8%

PO 10

qIfCIdT -2 : UG &l havaR UGRId SIeT 37T faawur

By what percent is the number of recruitments of LOs more/ less in C, E and F taken together than in A, B and D taken
together?

1. more by 37.11%
2. less by 33.22%
3. more by 33.22%
4. less by 37.11%

(Option 1 [28105]) 1
(Option 2 [28106]) 2
(Option 3 [28107]) 3
(Option 4 [28108]) 4

C, E, F @I Ud W1y Ha@s Lo B Fyfaaal &1 €& A, B, D @I Uh 91y B &1 qa-1 # a1 wiasra st / &9 8 2

1.37.11% 4 31f8&
2.33.22% U A
3.33.22% Y 3HUH
4.37.11% U $H

(Option 1 [28105]) 1
(Option 2 [28106]) 2
(Option 3 [28107]) 3
(Option 4 [28108]) 4
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Answer Given by Candidate : 4

Sl. No.103
QBID:22201003

https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d 52/97



3/24/23, 9:37 AM

https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d

The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFQ), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),

respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank

Mumber of Vacant Posts

800

940

600

820

450

mm O I

560

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank

Breakup (%)

ITO 11 %
AFO 35%
LO 10%
FE 26%
TO 8%
PO 10
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frafafaa aiferer-1 ok aiferer-2 . 6 31 A -F % a1 4170 UST BT 3reT - 3re fawor Inie & ofr &9 4 6 fim 2w
F PP F rawgedr TR U (%) TR e e fAaw & fF waw: org & sftert (o & o), Py é
st (T uw o), fafy aftrerd (o o), ffta srderdt (@ €), Fo-itet sftrert (& ot ) o vidwridt siftrer
(@ 3t ) B TS F gE ufewa 910t 6 §HT & forw war €1 arfereT & fRw v siwst F onuw R ust &1 3w i

dIfei®T -1 : s®HaR Rad ug

a4

ad ual @1 IEm

800

940

600

820

450

mm O I

560

o § dHax (faavon (9)
ITO 1%
AFO 35%

LO 10%

FE 26%

TO 8%

PO 10

qIfCIdT -2 : UG &l havaR UGRId SIeT 37T faawur

The ratio of recruitment of AFOs in C and E taken together with that of D and F taken together is

1. 46:35
2. 233174
3.174:233
4.35:46

(Option 1 [28109]) 1
(Option 2 [28110]) 2
(Option 3 [28111]) 3
(Option 4 [28112]) 4

C 3R £ H U 91y FHa@R AFO 1 Hdl &1 3-UTd D IR F & Ul 91y e @1 qa-1 | fd T & 2

1.46: 35

2.233:174
3.174: 233

4.35:46

(Option 1 [28109]) 1
(Option 2 [28110]) 2
(Option 3 [28111]) 3
(Option 4 [28112]) 4
Answer Given by Candidate : 4
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Sl. No.104
QBID:22201004
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The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFQ), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),

respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank

Mumber of Vacant Posts

800

940

600

820

450

mm O I

560

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank

Breakup (%)

ITO 11 %
AFO 35%
LO 10%
FE 26%
TO 8%
PO 10
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frafafaa aiferer-1 ok aiferer-2 . 6 31 A -F % a1 4170 UST BT 3reT - 3re fawor Inie & ofr &9 4 6 fim 2w
F PP F rawgedr TR U (%) TR e e fAaw & fF waw: org & sftert (o & o), Py é
st (T uw o), fafy aftrerd (o o), ffta srderdt (@ €), Fo-itet sftrert (& ot ) o vidwridt siftrer
(@ 3it) 81 TS Ft ur ufvwa 91 6 ¥ F fore ware #1 aifereT & Rw T siiwet ¥ oy WR Ul &1 39w gl

dIfei®T -1 : s®HaR Rad ug

o (Nad gl @1 9@
A (800

B[940

C |600

D (820

E |450

F |s60

TIIHT -2 : UGl &1 HedR WaRid e 3T fgarm
o § dHax (faavon (9)
ITO 1%

AFO 35%

L0 10%

FE 26%

TO 8%

PO 10

Banks D and F hired 15% more POs than their requirement. After one year, the total strength of the staff in bath D and F

was brought down to the original strength through retrenchment of some employees. By what percent is the retreachment
less / more in Bank D than in Bank F?

1.46.43% more in Bank D
2. 46.43% less in Bank D
3.43.46% less in Bank D
4. 43.46% more in Bank D

(Option 1 [28113]) 1
(Option 2 [28114]) 2
(Option 3 [28115]) 3
(Option 4 [28116]) 4

dh D AR F A AU HaRGEdl U 15% Hed O ofl @ (g | Uh au 691G, % D 3R F H $@ SHdIdl @I Se-l & a1y
Y ARGl (1) B =1 Ugd (Ia) & fold=1 B2 [GaT| § F BT U & D H Selg & ®H/348d Uiawd fba-i g ?

1. 9@ D & 46.43% 3@
2.9® DT 46.43% ®H
3. 9@ D | 43.46% ®H
4.9% D T 43.46% HUD

(Option 1 [28113]) 1
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(Option 2 [28114]) 2
(Option 3 [28115]) 3

(Option 4 [28116]) 4
Answer Given by Candidate : 1

Sl. No.105
QBID:22201005
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The following Table - 1 and Table - 2 show the break up of 4170 vacant posts in six Banks A-F, and the percentage
(%) breakup of the requirement of personnel in six different cadres in a Bank, namely, IT officers(ITO), Agricultural
Field Officers (AFQ), Law Officers (LO), Finance Executives (FE), Technical Officers(TO) and Probationary Officers (PO),

respectively. Assume that these percentages are the same for all the six Banks. Based on the data in the tables,
answer the questions.

Tables 1 : Bank- wise Vacant Posts

Bank

Mumber of Vacant Posts

800

940

600

820

450

mm O I

560

Table-2 : Cadre-Wise Percentage Breakup of Posts

Cadre in a Bank

Breakup (%)

ITO 11 %
AFO 35%
LO 10%
FE 26%
TO 8%
PO 10
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frafafaa aiferer-1 ok aiferer-2 . 6 31 A -F % a1 4170 UST BT 3reT - 3re fawor Inie & ofr &9 4 6 fim 2w
F PP F rawgedr TR U (%) TR e e fAaw & fF waw: org & sftert (o & o), Py é
st (T uw o), fafy aftrerd (o o), ffta srderdt (@ €), Fo-itet sftrert (& ot ) o vidwridt siftrer
(@ 3t ) B TS F gE ufewa 910t 6 §HT & forw war €1 arfereT & fRw v siwst F onuw R ust &1 3w i

dIfei®T -1 : s®HaR Rad ug

o |Nad Ual &1 9w

800

940

600

820

450

mm O I

560

o § dHax (faavon (9)
ITO 1%
AFO 35%

LO 10%

FE 26%

TO 8%

PO 10

qIfCIdT -2 : UG &l havaR UGRId SIeT 37T faawur

In Bank E, how many more TOs should be employed than the required number so that the ratio of number of TOs to that of
number of FEs becomes 2:37

1.42
2.34
3.23
4. 39

(Option 1 [28117]) 1
(Option 2 [28118]) 2
(Option 3 [28119]) 3
(Option 4 [28120]) 4

d@ £ @1 Saad & ¥ fha- ifi® 1o $i Fgad fea 91 Tifgt forgd i To &1 W1 &1 FE &1 ST & a1y SuTd 2 : 3

Bl W ?

1.42
2.34
3.23
4. 39

(Option 1 [28117]) 1
(Option 2 [28118]) 2
(Option 3 [28119]) 3
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(Option 4 [28120]) 4
Answer Given by Candidate : 1

Sl. No.106
QBID:22201006

Which of the following statements best describes Brainstorming method of teaching?

1. Production of large number of ideas

2. Small step presentation with feedback provided
3. Content delivery in a lucid language

4. Theme based interaction among participants

(Option 1 [28121]) 1
(Option 2 [28122]) 2
(Option 3 [28123]) 3
(Option 4 [28124]) 4

fofaiad & @ oF O oy e &1 fagr-dyH 39 &1 9aioq &1 ¢ aftid &l g ?

1. foar! &1 ggd A1 &1 IdeA

2. Ve Uiagf¥ & Ty oY TIH WEfaa

3. gaty yeT # fawg-a%g vl

4. G HIRTEl & &9 fawg (2iH) sruia sFamafean

(Option 1 [28121]) 1
(Option 2 [28122]) 2
(Option 3 [28123]) 3

(Option 4 [28124]) 4
Answer Given by Candidate : 4

Sl. No.107
QBID:22201007

Which of the following are the main characteristics of learner centered approach?
A. It is based on rigid curriculum.

B. It is centered on cooperative determination of subject matter.

C. It is mainly centered on teacher needs.

D. It lays emphasis on variability of exposure.

Choose the eorrect answer from the options given below:

1.A, Band D only
2. A and C only
3.Band D only
4.B and C only

(Option 1 [28125]) 1
(Option 2 [28126]) 2
(Option 3 [28127]) 3
(Option 4 [28128]) 4
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FafeRaa # ° sifrmedl I+1d! SUrFM &) WHE faRivdTd &H i g 2
A. T 37 UTe =l R e gial |

B. Tg fawaTd A1l & WedRI (R0 | Sl gl g |

C. T8 JEra: Ria@ @ saxaddisi R disd aidl o

D. U8 315 ?l fAfdudar R sd a2
g feu T fameal F 9 w8l SR
1. ®ad A, B 3R D
2. %ad AR C

3. ®ad B 3R D
4. Padp AR C

(Option 1 [28125])
(Option 2 [28126])
(Option 3 [28127])

(Option 4 [28128])
Answer Given by Candidate : 1

Sl. No.108
QBID:22201008

W N =

H

The channels of SWYAM PRABHA are uplinked from BISAG,

1. Aurangabad
2. Hyderabad
3. Gandhinagar
4. Banglore

(Option 1 [28129]) 1
(Option 2 [28130]) 2
(Option 3 [28131]) 3
(Option 4 [28132]) 4

9T UHT I-Td gl & ol A5 TF TSl J giferd (Uicids)  ?

1. SRTETG
2. 8eETg
3. MR
4. SR

(Option 1 [28129]) 1
(Option 2 [28130]) 2
(Option 3 [28131]) 3
(Option 4 [28132]) 4
Answer Given by Candidate : 2

Sl. No.109
QBID:22201009
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Given below are two statements:

Statement I: TPACK (Technological Pedagegical Content Knowledge) framework has been developed by Mishra and Kochler
in 2006.

Statement II: TPACK framework comprises of total six components.
In light of the above statements, choose the most appropriate answer fram the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incarrect but Statement Il is correct.

(Option 1 [28133]) 1
(Option 2 [28134]) 2
(Option 3 [28135]) 3
(Option 4 [28136]) 4

e al By fRu U §

FYH - | A WU & (CHADd USHHGT d-c-< Aldd ) Bid & [HYT 3R DIFeR 3 ad 2006 H fGaad & ui
DY - 11 A R T & ol ¥ $d Bg 9D A oid &l

Il HYH B 3Melie | FafeRad [adedl # 9 98l I g -

1. ®YF | AR 11 &F Tel
2. @Y | 3R 11 g TTad B
3.%YF 1 9 8, Py 11 TTad § |
4. T | A &, o BYA 11 TET B

(Option 1 [28133]) 1
(Option 2 [28134]) 2
(Option 3 [28135]) 3

(Option 4 [28136]) 4
Answer Given by Candidate : 3

Sl. No.110
QBID:22201010

Which of the following statements best describes “Summative Evaluation® in evaluation procedures?

1. The teacher clarifies the doubts of the students in the class itself.

2. A teacher awards grades to the students after having transacted the course work.

3. During interaction with students in the classroom, the teacher provides feedback.

4. The learner's motivation is raised by the teacher through a question- answer session during feedback.

(Option 1 [28137])
(Option 2 [28138])
(Option 3 [28139])
(Option 4 [28140])

A W N =
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FafRed § 9 @F9 &Y ATHa-Id Tgiadl H “Yha-es Adha- (FHCd SaqURH) B YaiaH guiH Sl ¢ ?

1. Ta e 1 €1 fqenfial & gl &1 Faru &l 21

2. F&fs UTedsh &1 @1 QX B & alg U5y WeH SHdl o

3. e/ San & faentfal & g siafiar & GRE ufag® (Bisddm) UgH &l ol
4. e Ui & SR UY-SR U & 01298 U HERmEGdl &1 AR 961 8|

(Option 1 [28137]) 1
(Option 2 [28138]) 2
(Option 3 [28139]) 3

(Option 4 [28140]) 4
Answer Given by Candidate : 2

Sl. No.111
QBID:22201011

Different from being a normal distribution, if a curve is skewed on the right side, we call it

1. Positively skewed.

2. Negatively skewed.

3. Non-uniformly skewed.
4. Platy kurtic.

(Option 1 [28141]) 1
(Option 2 [28142]) 2
(Option 3 [28143]) 3
(Option 4 [28144]) 4

ofe, 9 fGoRu &1 FRufd ¥ F aIfg- T R® aF ST ou I &l A g sU ded 6 ?

1. Y9THS ¥0 9 fguq
2. BUTES ¥U 4 fgug
3. 399 ¥4 9 faug
4. Tafie® Peal (@ieplew)

(Option 1 [28141]) 1
(Option 2 [28142]) 2
(Option 3 [28143]) 3

(Option 4 [28144]) 4
Answer Given by Candidate : 1

Sl. No.112
QBID:22201012

When the consistency of data collected is measured at different points of time, it is identified as.

1. Inter- rater reliability
2. Test- retest reliability
3. Split half reliability
4. Internal reliability

(Option 1 [28145]) 1
(Option 2 [28146]) 2
(Option 3 [28147]) 3

https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d
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(Option 4 [28148]) 4

a9 & fafia fdgsil W Yaid sfids] @ teeydl A1 ofid! &, df 39, Hed g ?

1. 3R fayg-gdn

2. GI&I0T - g GIai0r faya-adn
3. favea oig Ryaiga

4. A fayg=radn

(Option 1 [28145]) 1
(Option 2 [28146]) 2
(Option 3 [28147]) 3

(Option 4 [28148]) 4
Answer Given by Candidate : 4

Sl. No.113
QBID:22201013

Change of behaviour in people after they come to know they are participating in a research project to produce results that
do not have validity is known as

1. Blind effect

2. Evaluation effect
3. Hawthorne effect
4, Demand effect

(Option 1 [28149]) 1
(Option 2 [28150]) 2
(Option 3 [28151]) 3
(Option 4 [28152]) 4

g S & dle for IRUTHT &l U B3 & e fadll srdym giaie-n | 9l df 4TS 38 §, 31 dls a4al el 6, & gyid
3% I9ER | fRadd deard g

1. 3{YT JHIE (K2 S 3hae)
2. JedidH UG

3. BI9YH UHE

4. 7T UYE

(Option 1 [28149]) 1
(Option 2 [28150]) 2
(Option 3 [28151]) 3
(Option 4 [28152]) 4
Answer Given by Candidate : 3

Sl. No.114
QBID:22201014
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Some of the threats to internal validity in research are:
A. Quasi experimental design

B. Pre-Testing

C. Attrition

D. History

E. Maturation

Choose the correct answer from the options given below semi colon:

1.A, Band COnly
2.B, Cand D only
3.B, D and E only
4.C, D and E only

(Option 1 [28153]) 1
(Option 2 [28154]) 2
(Option 3 [28155]) 3
(Option 4 [28156]) 4

HTHYF T AT T B P TR & :
A, 3fef-urifie feemga
8. Ui gd

C. SR

D. gdad

E. ORg@dr

- fau 1Y fasenl & 4 98l I g :
1. 30 A, B 3R C
2.%4dd B, C 3R D

3. ®Wad B, D ANE
4.HAAC, D AR E

(Option 1 [28153])
(Option 2 [28154])
(Option 3 [28155])

(Option 4 [28156])
Answer Given by Candidate : 3

W N =

H

Sl. No.115
QBID:22201015
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Given below are two statements:

Statement I: In Focus group discussions, the moderator is supposed to provide a liberal climate for participants to open up.
Statement II: Participants of focus group discussions should rant individual experiences for comparison.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false,
4, Statement | is false but Statement Il is true.

(Option 1 [28157]) 1
(Option 2 [28158]) 2
(Option 3 [28159]) 3
(Option 4 [28160]) 4

TG FEGTE:
DY - | : Bibd YHE ddi H URFTES U 3U&T I Al ¢ b 98 HFIER! &I Gas g T & [ IER daerul UeH &1

DY - || : BIHY THE HFIGRI & goH1 & [T ddicdd 3IHd BT [EeR Uie1 9z Ul
Il HYH B 3Melie | FafeRad [adedl # 9 98l I g -

1. BY | 3R 11 G W8T §

2. %Y | IR I S Tad 2

3.%YF 1 9 8, Py 11 TTad § |
4. T | A &, o BYA 11 TET B

(Option 1 [28157]) 1
(Option 2 [28158]) 2
(Option 3 [28159]) 3

(Option 4 [28160]) 4
Answer Given by Candidate : 2

Sl. No.116
QBID:22201016

In communication, denotation is the level of

1. Belief

2. Contrast

3. Description
4. Dissent

(Option 1 [28161])
(Option 2 [28162])
(Option 3 [28163])
(Option 4 [28164])

A W N =
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gamu # fyeary (s Taer e ?

1. Tayrg
2,999
3. gu
4. 3ggHld

(Option 1 [28161]) 1
(Option 2 [28162]) 2
(Option 3 [28163]) 3

(Option 4 [28164]) 4
Answer Given by Candidate : 3

Sl. No.117
QBID:22201017

Symbols provide meaning when used in a

1. Contrasting style

2. Random order

3. Non-specific context

4. Specific cultural context

(Option 1 [28165]) 1
(Option 2 [28166]) 2
(Option 3 [28167]) 3
(Option 4 [28168]) 4

e foad Ugad a3 W 3 e B & 7

1. Afaad! At

2. Jeiasd e

3. IR-fafdip deH

4. fafary wipla® de

(Option 1 [28165]) 1
(Option 2 [28166]) 2
(Option 3 [28167]) 3

(Option 4 [28168]) 4
Answer Given by Candidate : 4

Sl. No.118
QBID:22201018
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A hot medium is characterised by

A. Non mechanical components

B. Low Audience participation

C. It envelopes only one sense

D. Large amounts of information supplies

E. High audience participation

Choose the correct answer from the options given below:

1.A, Band Conly
2.B, Cand D only
3.C, DandEonly
4. A, DandE only

(Option 1 [28169]) 1
(Option 2 [28170]) 2
(Option 3 [28171]) 3
(Option 4 [28172]) 4

Bl HITSTA [0 a1 SATHEH a1 8 7
A. TR-IE® 9o
8. 7 e (HTaT-a=iET) YTiERT
C. ®ad U@ AT (F-9) B 19 Pl g
D. a1 BI F31 HEAI B YR Dl &
E. 3 RS - WRIGRI
< feu U fosenl 5 9 951 I 2
1. ®Ad A, B 3R C
2.%4dd B, C 3R D

3. ®ad C, D ARE
4.Had A, D 3R E

(Option 1 [28169]) 1
(Option 2 [28170]) 2
(Option 3 [28171]) 3
(Option 4 [28172]) 4
Answer Given by Candidate : 3

Sl. No.119
QBID:22201019
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Given below are two statements:

Statement I: In the initial stages, mass communication was considered as a study of propaganda.
Statement II: Now it has its linguistic component in terms of signs, codes and language.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement 1l is true.

(Option 1 [28173]) 1
(Option 2 [28174]) 2
(Option 3 [28175]) 3
(Option 4 [28176]) 4

EIERACRE A A
HY - | : YRS TR0l H & H9R &1 fH-UER (UIUS)) & Us 09 & ¥4 H -1 §5dl 47
®YA - 1| - 3 g, Wigared ok v & dey | 39T vl 9es 2|
SIUE HYH & e | FEiied el J 4 T8 W g -
1. Y | SR 1 SFT T8I &
2. BYT | 3R 11 GH TTed § 1

3.%Y9 1 908, Py 1 TTad © |
4. Y| A |, o HY 11 T B

(Option 1 [28173]) 1
(Option 2 [28174]) 2
(Option 3 [28175]) 3

(Option 4 [28176]) 4
Answer Given by Candidate : 3

Sl. No.120
QBID:22201020

Given below are two statements:

Statement I: Mass communication supplies an inventory of public messages and allows for the monitoring of social values.
Statement II: In large scale social settings, mass media will enable integration of social institutions.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement |l is false.
4. Statement | is false but Statement Il is true.

(Option 1 [28177]) 1
(Option 2 [28178]) 2
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(Option 3 [28179]) 3
(Option 4 [28180]) 4

AR A PHRTME:
TY - | : TH-TOR WaW-® GoR B Gdl B AYf B 3 AR TS Tt B YA B Gl 8l
@Y - || : G5 T & o IR H SH-YaR SHIfoi® G134 & THIsIvl H Y& gl
Suda By & retie H Fofefed el 4 9 wdl S g -
1. @Y | 3R 1 EFT TE E)
2. %Y | 3R 11 GHI TTad B

3.%Y9 1 Gel g, fg @y 1 Tad B |
4. YT 7, fog DY 1 T B

(Option 1 [28177]) 1
(Option 2 [28178]) 2
(Option 3 [28179]) 3

(Option 4 [28180]) 4
Answer Given by Candidate : 3

Sl. No.121
QBID:22201021

An amount of T 8500 becomes T 9500 in 3 years time at some simple rate of interest. How much the amount of 310,200

will become in 5 years at the same rate of simple interest?

1.3 11800
2.3 12000
3.312200
4.3 12500

(Option 1 [28181]) 1
(Option 2 [28182]) 2
(Option 3 [28183]) 3
(Option 4 [28184]) 4

HIYRU &0 @1 fird] &2 UX 8500 UL &1 Ul -I1RT 3 961 H 9500 BT &l Wl | I HIERU &1 &1 G UX 10,200 SUL &I
YRR 5 aul H a1 gl S 2

1. 11800 ¥UY
2.12000 39
3. 12200 ¥UY
4. 12500 304

(Option 1 [28181]) 1
(Option 2 [28182]) 2
(Option 3 [28183]) 3

(Option 4 [28184]) 4
Answer Given by Candidate : 3

Sl. No.122
QBID:22201022
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A man looks at the photograph of a person X and says "She is the daughter of the husband of only daughter of father of my
brother-in-law (Wife's brother)”. How is the person X related to the man?

1. Daughter
2. Sister

3. Wife

4. Mother

(Option 1 [28185]) 1
(Option 2 [28186]) 2
(Option 3 [28187]) 3
(Option 4 [28188]) 4

U HTGH! fad X & [ R GEdl 8 3R Hedl § & a8 H 9T & Udl &1 UHHE Tl & Uld &1 T 8| Jfad X, 39 SeH §
oy HPR Jafiid g ?

1.
2. 984
3. Ol
4. 91dl

(Option 1 [28185]) 1
(Option 2 [28186]) 2
(Option 3 [28187]) 3

(Option 4 [28188]) 4
Answer Given by Candidate : 1

Sl. No.123
QBID:22201023

A person starts from point A and walks 30 meters in the North direction and then 20 meters towards West and reaches a
point B. Thereafter, he takes a southward turn and walks 10 meters to point C. After that, he turns eastward and covers 15
meters to reach point D. Finally, turning to his right he walks 20 meters, Find the distance from his starting point to the end
point.

1. 4 meters
2. 5 meters
3. 8 meters
4. 10 meters

(Option 1 [28189]) 1
(Option 2 [28190]) 2
(Option 3 [28191]) 3
(Option 4 [28192]) 4
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U e ®HE A IoH] WRA™ Bl 8 AR IR G H 30 Hiex 9l & R 53 UidH $1 iR 20 Hiex &dl & U ®H B W
Ugadl &1 39D 916 98 GI401 B 3R TSd1 § 3R RIF € d@ Ugd- & 10T 10 Hiex 9adl ¢ | 39® a6 98 U3d &1 RS JSdl &
HR R D U g & [0 15 HIe IadT g1 fId: 98 HUH glie-l AR 3o 20 HIe 9l &1 ITP Y[eHd & WH § JHD
T ®H & 94 gff 91d Diferg

1.4 e
2.5
3.8 0
4. 10 Hiex

(Option 1 [28189]) 1
(Option 2 [28190]) 2
(Option 3 [28191]) 3

(Option 4 [28192]) 4
Answer Given by Candidate : 4

Sl. No.124
QBID:22201024

What number should replace question Mark(?) in the series given below.
55,47, 74,10, 135, -81, 2627

1.774
2.-250
3. 343
4. -343

(Option 1 [28193]) 1
(Option 2 [28194]) 2
(Option 3 [28195]) 3
(Option 4 [28196]) 4

< &1 T il | UsgEd o (7) & RIF W SIH-8 E= T a@nfeul
55,47, 74,10, 135, -81, 262, 7

1.774
2.-250
3. 343
4.-343

(Option 1 [28193]) 1
(Option 2 [28194]) 2
(Option 3 [28195]) 3

(Option 4 [28196]) 4
Answer Given by Candidate : 4

Sl. No.125
QBID:22201025
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In a certain code language, the word TECHNOLOGY is written as 'ETHCONOLYG'. How will the word GENERATION be written
in that language?

1. EGENARITNO
2. EGNERATINO
3. EGENARTINO
4. EGENARITON

(Option 1 [28197]) 1
(Option 2 [28198]) 2
(Option 3 [28199]) 3
(Option 4 [28200]) 4

fadt FAfid @2 9T, TECHNOLOGY' Xe& @I 'ETHCONOLYG' Tl STl 81 381 HINT H 'GENERATION® X @I fvd UHR 4
foran e 2

1. EGENARITNO
2. EGNERATINO
3. EGENARTINO
4. EGENARITON

(Option 1 [28197]) 1
(Option 2 [28198]) 2
(Option 3 [28199]) 3

(Option 4 [28200]) 4
Answer Given by Candidate : 1

Sl. No.126
QBID:22201026

“Critics of Freudian theory should get themselves psychoanalyzed because opposition to the theary is itself caused by
unconscious resistance arising from the Dedipal complex. Which according to Freud distorts one's thinking.” Which logical
fallacy is committed in the above argument?

1. Appeal to authority
2. Slippery slope

3. Begging the Question
4. Hasty generalization

(Option 1 [28201])
(Option 2 [28202])
(Option 3 [28203])
(Option 4 [28204])

A W N =
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"THITS & [HGId & ATAaD! B HUAT JH1- A=) HRaH] it Fifh BIgs & HIER Sleud ® e’ (HIgo-H-r) 9
33 aIe e URRIY g 39 NGid &1 [y Us aafad & fa @ [ddd @3dl 8 | 39 giad H &H 91 difid ol i 713 8

?

1. UMEHR 8

2. thgo-gad e
3. HTHHG G

4. it grdiET

(Option 1 [28201]) 1
(Option 2 [28202]) 2
(Option 3 [28203]) 3

(Option 4 [28204]) 4
Answer Given by Candidate : 1

Sl. No.127
QBID:22201027

Which one of the following propositions is logically equivalent to the proposition-"Some attorneys are logicians”?

1. Some logicians are not attorneys.

2. Some attorneys are non- logicians.

3. Some logicians are attorneys.

4. Some non-logicians are not non-attorneys.

(Option 1 [28205]) 1
(Option 2 [28206]) 2
(Option 3 [28207]) 3
(Option 4 [28208]) 4

Fafatad # 9 oHYd wioatd 39 Wiaeie - 3o sifiad dheRal 6" & SHqed 6 7

1. B AUl HITaedl ol g

2. B8 HUTH TR-ah A E |

3. B% AUl HTaedl gl

4, BE IR-AH R {R-H g Hel B |

(Option 1 [28205]) 1
(Option 2 [28206]) 2
(Option 3 [28207]) 3

(Option 4 [28208]) 4
Answer Given by Candidate : 3

Sl. No.128
QBID:22201028

If the proposition 'No frogs are amphibians' is given as false then which of the following propositions can be immediately
inferred to be true?

1. Some non- amphibians are not non frogs.
2. Some frogs are amphibians.

3. All frogs are amphibians.

4. Some frogs are nat amphibians.

(Option 1 [28209]) 1
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(Option 2 [28210]) 2
(Option 3 [28211]) 3
(Option 4 [28212]) 4

¢ 39 ufogia- “@is 1l Hed JUTIR Tel o~ @ 390 & ©0 | fG1 ma1 & °f Fafafad § 9 9 yagia & S 8- @I
Al@mTe® ¥ U 30F 0 o1 9@ § 2

1. P IR-IHTR IR-Hed 8l o |
2. TS Hed IHTW g

3. gt Hed IHTR B

4. TS Hed IHTR Rl o

(Option 1 [28209]) 1
(Option 2 [28210]) 2
(Option 3 [28211]) 3

(Option 4 [28212]) 4
Answer Given by Candidate : 4

Sl. No.129
QBID:22201029

Which of the following propositions are so related that if one of them is true, the other has to be false and vice- versa?
A. All camels are herbivorous.

B. Some camels are herbivorous.

C. Some camels are not herbivorous.

D. No Camels are herbivorous.

Choose the correct answer from the options given below:

1. A and D only
2.Band D only
3.Band C only
4. A and B only

(Option 1 [28213]) 1
(Option 2 [28214]) 2
(Option 3 [28215]) 3
(Option 4 [28216]) 4
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FafeRaa § 9 oFYl nioigl 39 ueR 9afid § i@ af 3749 9 U6 9 § dl gl 3i9d 3R fadamd: i1 91fet ?
A. Tt G rHel B
B. BT S MU
C. $S He AMDHHET T8l & |
D. ®ls 1 S Pyl T8l B
- faw e fowenl # 9 9l W A :
1. @A A SR D
2.%4d B 3R D

3. BAAB 3R C
4. %Had A 3R B

(Option 1 [28213])
(Option 2 [28214])
(Option 3 [28215])

(Option 4 [28216])
Answer Given by Candidate : 4

W N =

H

Sl. No.130
QBID:22201030

Which of the following arguments is an example of Svarupasiddha fallacy?

1. The sky- lotus is fragrant because it is a lotus, like the lotus of a lake.
2. Sound is eternal because it is produced.

3. Sound is a quality because it is visible.

4. Fire is cold becuase it is a substance.

(Option 1 [28217])
(Option 2 [28218])
(Option 3 [28219])
(Option 4 [28220])

A W N R

Fafatad H 9 oHY! gfdd @Euiis dbely & Uo 3aeiv & ?

1. HIPIL-HH Fied & il I8 Iid & U bHd o YHH U S ¢
2. M Myd & FIb I8 399 31 9l o

3. ©H U1 € Hifh 98 =xgHH el

4. 3ifir <fid & e U6 U 5oy (W) B

(Option 1 [28217]) 1
(Option 2 [28218]) 2
(Option 3 [28219]) 3

(Option 4 [28220]) 4
Answer Given by Candidate : 2

Sl. No.131
QBID:22201031
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Which of the following best describes Web 3.07

1. User generated online business

2. Based on the "intelligent” web where applications use natural language processing
3. Collaboration and social media

4. Refers to static text- based information websites.

(Option 1 [28221]) 1
(Option 2 [28222]) 2
(Option 3 [28223]) 3
(Option 4 [28224]) 4

FofafEd 5 9 &1 39 3.0 BT 9309 gUH Sdl & 7

1. ST - T S Aag

2. "HTHF Fediiore) 99 W ARG, Sel HUgr I9iie Y $He- Ugad &d o
3. GeaI 3R gire Hifsan

4. RUfH T3 - A Y1 d9usey & Yaiiid Sl gl

(Option 1 [28221]) 1
(Option 2 [28222]) 2
(Option 3 [28223]) 3

(Option 4 [28224]) 4
Answer Given by Candidate : 2

Sl. No.132
QBID:22201032

In the context of Information and Communication Technolegies(ICT), which of the following statements is/are true?

A. In an email system, Bec: allows the sender of a message to conceal the recipient entered in the Bec: field from the other

recipients.

B. Phishing is a malicious program installed on a system that stays concealed avoiding detection.

C. Spamming is an attempt to acquire sensitive information for malicious reasons, by masquerading as a trustworthy entity.
Choose the correct answer from the options given below:

1.B and C only
2. B only
3. Aonly
4. A and C only

(Option 1 [28225]) 1
(Option 2 [28226]) 2
(Option 3 [28227]) 3
(Option 4 [28228]) 4
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T Ud SRIgv Wi (31s.41.4) & ded | FafaRed § 9 oFuy/@ =y oy 98l 8/8 2

A. TS S0d e 3, ST, (Bee): T4 & U9E $I T, (Beo) H Uiy U U uradsdl o T 3@ @1 A1 Gl gl

2. st O IR RO BT eveie 1 99 & e & it o i ) W gt oo &, <t e S a & g
T Edl el

C. Wi U Ay tee (U2 & U § gHiaAYU aRUT § S0-$H9C gRI SdG-Rid ol @i Jfold & &1 U WaH 5|

rd feu e famedl o O Ugl S g
1. WA B AR C
2. Had B

3. WIAA
4. HAAA AR C

(Option 1 [28225]) 1
(Option 2 [28226]) 2
(Option 3 [28227]) 3

(Option 4 [28228]) 4
Answer Given by Candidate : 3

Sl. No.133
QBID:22201033

Given below are two statements:

Statement I: Mainframe computers have smaller internal memories than desktop computers.
Statement II: Spreadsheets and word processors are examples of application software.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true.

(Option 1 [28229]) 1
(Option 2 [28230]) 2
(Option 3 [28231]) 3
(Option 4 [28232]) 4
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EIERACAE A R
@Y - | : SEPeld YL B gaHl § BT HIER] Bl a9 HGRD Wd (Ged HaR) 8idl 8
@Y - 1| : TISEY 3R T3 TR (et UHHD) UM FFedi & Iae gl
Suda Sy o sMeile H Fafciad fadedl § 9 w8l ST -
1. Y | SR 11 GH TR B
2. %Y | R 11 GHITTed g1

3. %Y | A, o] Y 11 710d &
4, | HUA €, =] BY 11 TET B

(Option 1 [28229]) 1
(Option 2 [28230]) 2
(Option 3 [28231]) 3

(Option 4 [28232]) 4
Answer Given by Candidate : 4

Sl. No.134
QBID:22201034

ICT is used to control and monitor everyday activities. Which of the following activities are most likely to use sensors?
A. Designing a master slide for presentation

B. Activating a burglar alarm

C. Opening automatic doors

D. Creating a spreadsheet

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4. A and D only

(Option 1 [28233]) 1
(Option 2 [28234]) 2
(Option 3 [28235]) 3
(Option 4 [28236]) 4
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HTE. 2. 1 wiafe &1 nfafaferl & e SR srdian o foe uged faan siar g1 FHafarad # § i fafafial grr dags!
@1 W [t ST &1 Falidd GHE & 2

A UE](Q o 67U U O WSS &I HiidHed—
2. U STIeR 3{eTH Bl Wishd BT
C. WAldd gRI &l @idHl
D.Uch TISIT §HI
T feu 7Y fodenl 5 9 951 I g
1. DA A SR B
2.Had B AR C

2. ®ad C AR D
4. HAAAARD

(Option 1 [28233]) 1
(Option 2 [28234]) 2
(Option 3 [28235]) 3

(Option 4 [28236]) 4
Answer Given by Candidate : 2

Sl. No.135
QBID:22201035

Which of the following statements about computer networks are TRUE?

A. An intranet is a public network.

B. The Internet is a group of interconnected networks.

C. An extranet is an internal network that can be accessed externally by authorized users.
Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.Band Conly
4, A BandC

(Option 1 [28237]) 1
(Option 2 [28238]) 2
(Option 3 [28239]) 3
(Option 4 [28240]) 4
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fafiad § 4 $H U oY SR Sedi d aR A I 8 7

A. TP ST UD HIauli-id -iedo gl

B. Se¥He AqUdled oo @1 Uh T
C. TREHE U@ TR "edd &, o9 % Miied STrEatsi §R1 918 ©U  Ugel of 9@ gl
14 feu e fowenl H 9 981 9w 9 :

1.%ad A 3R B

2. haa A 3R C

3. PHaAB AR C
4.A B3R C

(Option 1 [28237]) 1
(Option 2 [28238]) 2
(Option 3 [28239]) 3
(Option 4 [28240]) 4
Answer Given by Candidate : 3

Sl. No.136
QBID:22201036

Given below are two statements:

Statement I: Rivers and lakes that have low biclogical preductivity are said to be eutrophic.

Statement II: Rivers and lakes that are rich in organisms and organic materials are called as oligotrophic.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(Option 1 [28241]) 1
(Option 2 [28242]) 2
(Option 3 [28243]) 3
(Option 4 [28244]) 4

EIEEHICRE A AR S
B - | 4 Aeat 3R S et Fg Sfa® Saesa el €, 3% Teihe del oIl 8|
@Y - |1 : d Aledl 3R =i <l el ud ifas uerdl 4 953 Bl 8, 3% Sfeauil (fiferlieiitse) &8l 9l &
I BT & il | Fafeied faemedl o 9 w8l o 9 -
1. Y| 3R 1 SH TR B
2. %Y | 3R 11 GHI TTad B
3. %Y 1 Gl &, food @Y 11 Tad B
4. YT 7, fog DY 1 T B

(Option 1 [28241]) 1
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(Option 2 [28242]) 2
(Option 3 [28243]) 3

(Option 4 [28244]) 4
Answer Given by Candidate : 3

Sl. No.137
QBID:22201037

What is flex fuel engine in motor vehicles?

1. Engines which run exclusively on biofuels.

2. Engines which are compatible with only 50% biofuel and 50% gasocline.
3. Engines in which biofuels and gasoline can be put in any ratio.

4. Engines which run on both diesel and CNG.

(Option 1 [28245]) 1
(Option 2 [28246]) 2
(Option 3 [28247]) 3
(Option 4 [28248]) 4

TTex aleHl H A7 S8F S T 6 7

1. 98 39 9l ad wids e 4 gadl &

2. 98 9 ol 374 50% St 3R 50% U2id & WY WA eid &

3. 98 $u- forgH Siagyq 3R Uerd o fardht +ft afura & 31 ol 9&dl §
4. 9¢ T 1l Sord R 41 o ot & § Iadr &

(Option 1 [28245])
(Option 2 [28246])
(Option 3 [28247])

(Option 4 [28248])
Answer Given by Candidate : 4

Sl. No.138
QBID:22201038

W N =

H

Which of the following are pathways for toxicants to enter into our body?
A. Inhalation

B. Absorption

C. Dermal

D. Ingestion

E. Extraction

Choose the correct answer from the options given below:

1.A, Cand D only
2. A and E only

3.B,Cand D only
4.C, D and E only

(Option 1 [28249]) 1
(Option 2 [28250]) 2
(Option 3 [28251]) 3
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(Option 4 [28252]) 4

THR TRR H TR & VA% &g AN HEidiied H I dH U E?
A, AT

B. S{aRIY0

C. @dg

D. 3ialgyl

E. ey

i feu 1Y fasenl & 4 98l Iw g :
1. ®ad A, CHRD
2. Bau A dRE

3. ®aAB, C AR D
4.HAAC, D AR E

(Option 1 [28249]) 1
(Option 2 [28250]) 2
(Option 3 [28251]) 3
(Option 4 [28252]) 4
Answer Given by Candidate : 1

Sl. No.139
QBID:22201039

In order to limit the rise in global temperature to 1.5 °C over pre industrial levels, IPCC indicates that the world has to
reduce the emission of greenhouse gas to the extent of % by the year 2030.

1.65
2.50
3.45
4. 40

(Option 1 [28253]) 1
(Option 2 [28254]) 2
(Option 3 [28255]) 3
(Option 4 [28256]) 4

3 auuH o 9ig &1 gd-A=ife &R Y 1.5 °C O Ui o3 & fag oms. 1.8t 4l Yaod &l & o 9% &1 ad 2030 0@
HeRd T & I&e ®l % &I UIHl ddb YeHl sl

1. 65
2.50
3.45
4. 40

(Option 1 [28253]) 1
(Option 2 [28254]) 2
(Option 3 [28255]) 3
(Option 4 [28256]) 4
Answer Given by Candidate : 3
Sl. No.140
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QBID:22201040

Although ozone is a pollutant in the ambient air, but in stratosphere it is valuable because it absorbs harmful

1. IR-Radiations
2. X-Rays

3. UV-Radiations
4. Gama- Rays

(Option 1 [28257]) 1
(Option 2 [28258]) 2
(Option 3 [28259]) 3
(Option 4 [28260]) 4

eI el uRaeh arg o Ug® sidl & =] Yuaursd H 4 JeddH gidl & diie dg Fufdiad el-eR®
ST A8 -

1. T8 AKX - fafemo
2. 759 - et

3. g 41 - fafeeo

4. 77T - e

(Option 1 [28257]) 1
(Option 2 [28258]) 2
(Option 3 [28259]) 3
(Option 4 [28260]) 4
Answer Given by Candidate : 3

Sl. No.141
QBID:22201041

Which of the following specific programmes are initiated by UGC for the promotion of values and ethical practices?
A. Jeevan kaushal

B. Desksharambh

C. Vishwa Bharat

D. Guru Dakshata

E. Vishwa Darshan

Choose the eorrect answer from the options given below:

1.C, D and E only
2. A and E only

3.B,Cand D only
4. A, B and D only

(Option 1 [28261]) 1
(Option 2 [28262]) 2
(Option 3 [28263]) 3
(Option 4 [28264]) 4
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Frafatad & 9 oF 3 ARy $rdeH! o okl gR1 9 Ud Afdd OdeR| I Uidilied ®3 & o R™ a1 1
A, SitaH DI

B. GI&MNY

c. fay urd

D. % Geidl

e fay e

T feu 7Y fodenl 5 9 951 I g
1.®aa C, D AR E
2. Had AR E

3. ®ad B, C AR D
4. PAd A, B3R D

(Option 1 [28261]) 1
(Option 2 [28262]) 2
(Option 3 [28263]) 3
(Option 4 [28264]) 4
Answer Given by Candidate : 3

Sl. No.142
QBID:22201042

Given below are two statements:

Statement I: Technical education is that which emphasises on the learning of techniques as technical procedures and
necessary skills and aims at preparing technicians usually above the secondary level.

Statement II: There is no distinction between vocational education, industrial education and technical education.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true.

(Option 1 [28265]) 1
(Option 2 [28266]) 2
(Option 3 [28267]) 3
(Option 4 [28268]) 4
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FYF - | - TH 1P| [T I8 & F dPAID! [Halfaerl Ud Ha=ad SIdl & 0 § ufafial & 4 ) 94 od § <R fogar
T Had: fGdae W 4 S0 & i 9aR &l 8l

B - || : AP e, i e Ud qo-ie! [a1 & 99 SIS fave T8l eial 2|
Sudad HYAl & ai® | FafiRad wmedl H 9 981 S g -

1. ®YA | AR 11 3HT TSI el
2. ®YA | AR NI GH TEd 2
3. ®YA | T2l ¢, fooeg YA 11 TTed B
4, Y 1 7Ted & | fb=] &Y= 11 Tl 2

(Option 1 [28265]) 1
(Option 2 [28266]) 2
(Option 3 [28267]) 3

(Option 4 [28268]) 4
Answer Given by Candidate : 3

Sl. No.143
QBID:22201043

Which of the following are the state universities of India?
A. Sardar Patel University, Gujarat

B. Nagaland University, Nagaland

C. Acharya Nagarjuna University, Andhra Pradesh

D. Gauhati University, Assam

E. Sikkim University, Sikkim

Choose the correct answer from the options given below:

1.B, D and E only
2.A, B CandE only
3.A Cand D only
4.C,Dand E only

(Option 1 [28269]) 1
(Option 2 [28270]) 2
(Option 3 [28271]) 3
(Option 4 [28272]) 4
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HRd & o4 fayfaeey Fefdfeaa H e aH a4 &2
A. TRER U fayfdened, o

8. AFTCIUS faufaerey, Armes

C. SR qRTeH fafierey, sy wew

D. T[aTe1d! fayfaeram, sraH

. fafeen fayfaae, fafeed

i feu e fowenl H 9 981 9w 9
1. a0 B, HR D HRE
2.bad A, B, C 3R E

3.PHad A, C3HR D
4.HAAC, D3R E

(Option 1 [28269]) 1
(Option 2 [28270]) 2
(Option 3 [28271]) 3

(Option 4 [28272]) 4
Answer Given by Candidate : 2

Sl. No.144
QBID:22201044

Which of the following are included among the Institutes of Agricultural Research?
A. Indian Council of Agricultural Research.

B. Indian Institute of Food Technology.

C. Central Agricultural Marketing Department.

D. Indian Dairy Research Institute.

Choose the correct answer from the options given below:

1.A, B, Cand D
2. A, Band D only
3. A and B only
4. A and C only

(Option 1 [28273]) 1
(Option 2 [28274]) 2
(Option 3 [28275]) 3
(Option 4 [28276]) 4
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fFafeiad 9 &1 oY srgdyr d®HEl | widd 87
A, YR S sdyH uRug
B. YR @ref Wit ST
C. s i fagure fwm
D. YRAW ST Y T=IH
i o 7Y faweal # 9 98 IR g :
1.A, B, C3IR D
2.®ad A, B 3R D

3. Bad A R B
4. Had A 3R C

(Option 1 [28273]) 1
(Option 2 [28274]) 2
(Option 3 [28275]) 3
(Option 4 [28276]) 4
Answer Given by Candidate : 4

Sl. No.145
QBID:22201045

Given below are two statements:
Statement |: In ancient India, education was free,
Statement II: In ancient India, education was centralised.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is carrect but Statement Il is incorrect.
4, Statement | is incarrect but Statement Il is correct.

(Option 1 [28277]) 1
(Option 2 [28278]) 2
(Option 3 [28279]) 3
(Option 4 [28280]) 4

EIEEAGAIC A AR
@Y - | : U YRa H e F:3ew 0
HY - 11 WEH YRa & e diigd ot
Ul Byl & Hcie J Hufaiad [deedl # 4 98 w9 -
1. %Y | AR 11 EFf Tl B
2. WY | AR 11 GH TTed B
3. %Y 1 Gl &, food @Y 11 Tad B
4. YT 7, fog DY 1 T B
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(Option 1 [28277]) 1
(Option 2 [28278]) 2
(Option 3 [28279]) 3

(Option 4 [28280]) 4
Answer Given by Candidate : 2

Sl. No.146
QBID:22201046

Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long peried of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Conge to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,

the people of French Congo or Morocco, whose territories were being bargained, had no say.

FrafafEa T ot wryde e ok et vt & 9w i

TR 3R SMBTHT @1 GHogae! [aord @ Wihdl & Y-y TG GTegare) Qiadl & 8id Sabe Uiiaiadl iR 99y off oI
o | FuiHaR W ufaudl grd U s 31 Rfd 309 BXd Y1 gTeii, 399 I e Tusl @I ZIU & THcH afl | s fomn
I 4T 3R g5 ed 91d ¥ R W], $9 W $- & a9 @ od? HideH 158 & WH R $S' & YR W 30
vfoefadl & aral -HH-91 o= HH W1 &F AU HEN- BT GHIYH Bl A1 Farsu & Y ay 1904 H niaga! aral, e aHf
%o B g5 & HeH aF Ugdl (&1 UT, B el @iy & §id o W e $fR WY 7 e T 993 [ o gR1 fiem &t
e 5 oo it B3 @1 Wdadl §1 713 3R 39D Uael H ARdd], HiY & 581 91 U1l §d FHA & 386 aR H JTHeRT el af
G Y U HRGD! R 30 G1d BT TR B B AT S| 30 916 - RIPE Yoe I gU o U Is & oH W
UEd 1| ARa®! & T, B TAHE Hda: T4 1911 § g 99 B4, WG Sl &1 U fow 901 ®f & IR Tghd, g3 3R
S A i @1 giad @ i 9, ARe®! o o0 31 @ AR 8 Hf IR I@dl o1 3 U@l & Ual g I1 3@ TAyH g
W H, B BN 91 ARGH! & Al B 6 H Se- Bl AUBR et o foHd Iva &3 & g daaret 51 e o

Which of the countries was allowed to take control of Egypt?

1. Britain

2. France
3. Germany
4. Spain

(Option 1 [28281]) 1
(Option 2 [28282]) 2
(Option 3 [28283]) 3
(Option 4 [28284]) 4
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Frafatad fog a2 & i IR e wIftd &34 &1 srHfd € Ts?

1. fge=
2. %Y
3. ST
4. T4

(Option 1 [28281]) 1
(Option 2 [28282]) 2
(Option 3 [28283]) 3

(Option 4 [28284]) 4
Answer Given by Candidate : 1

Sl. No.147
QBID:22201047

Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long period of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Conge to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,
the people of French Congo or Morocco, whaose territories were being bargained, had no say.

frafeiRaa Teiw B wrgds ufey $fik wefid usi & s v

U 3R SMBiET @1 GrHegae! faorg @ Uihar & 9ry-91y R geTeaard! Ufdadl & 99 Sabe Uiagfaal ok duy off o
2| Jufael W uiaed g ua: g2 ot Rl 3o ®ed 91 g, 390 U S Tul & Y & THTo- Sl § Jegn fomr
S T 3R g5 < Siid U1 QI Wik, 36 Uk 3 & UaW 36 ad? WiiaH U130 & WM WS’ & YR W 30
uREfRd & aEl -BH-U1 S S W &7 AU HT- B HYH B 41 IEe & e ad 1904 H ufagdl g, A gt
<= Bl GG & He o Ugdl a1 ol, @I ! e & did oH R fad $iR W19 3 U6 T gHsial [dal e gRI f§eq &
e & o 1t o @ Wdaal 1 73 3R 3Ud e & ORaw!, HiY & 581 91 Tl 5| 9EA & 396 @) 8§ aFen fHe
IE 18§ ARGD! W S0 a1 B URAN B S HiY 31| THS €1G 3P faRipiy Yo Iae gu, ford G g& & HelH 1)
Ugd T AR & He, &1 GHIUE dd: a¥ 1911 H g3 oia Wiy, WigE i &1 Ue G 91 @I G- I 98Hd, gof 3R
ST A Wi @1 giud 51 {6 98, ARes! | Ui 3981 & S UR $8 1l IR Gavdl ¢l 37 Sdbel & Ugl g 1 31 9HIYH Y
o ¥, Wi @i a1 aRad! & Al & o ol ded & ABR el o1 o I9a &7 & g dicarsh 81 @
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Given below are two statements:

Statement I: Competing claims over African colonies were generally settled through war among the European powers.
Statement II: France was in conflict only with Britain over Morocco.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is carrect but Statement Il is incorrect.
4, Statement | is incarrect but Statement Il is carrect.

(Option 1 [28285]) 1
(Option 2 [28286]) 2
(Option 3 [28287]) 3
(Option 4 [28288]) 4

AR A PHRTME:
HY - | : 3fpio] IuHaRI W ufaeas gral &1 SHyE JHdR W RdE el & die g5 g faean S o)
HY - || : HRD] DI ABR BiH DI had [sc o Hay 4|
SHda By & frelie | Faffed fGeal 4 8 wdl S g -
1. DY | 3R 1 SH TR B
2. %Y | 3R 11 GHI TTad B

3. %Y 1 el &, fobeg @Y 11 Td B
4. YT B, fog dY 1 T B

(Option 1 [28285]) 1
(Option 2 [28286]) 2
(Option 3 [28287]) 3

(Option 4 [28288]) 4
Answer Given by Candidate : 4

Sl. No.148
QBID:22201048
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Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long period of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Conge to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,
the people of French Congo or Morocco, whose territories were being bargained, had no say.

frafefa T o1 urgds ufey ok efia ust & s S

U 3iR IMBIET &1 GHTadIe] Ao @ Uidhar & 9ry-91y R Yeaard! Afeadl & ad Sape uidgfadr ok Juy of S
2| FuiHaRn R ufaeudl g U 4= 31 R 309 BXd Y1 g, 395 9 eI Susl $f DRI & GHcH all H o fomn
ST o1 3R g od 9id 41 AU W], $% W &3 & Uas 56 ¢ WdaH J1 58 & ®F R $8° & HAYR IR 304
wicElEal & Sl -HH-91 ¢/ DI 91 &5 AU - BT GATYH Bl 47| IS & [T 9y 1904 H wiagal aral, o gFf
S Bl G & geH ad Ugdl a1 ol, @I arl 3afY & did 9IH R e SR w9 3 U T YHsial [dhal e gRI f§ea @
e & o9 1t o @ Wdaal 31 73 SR 3Ud a9 & ARaw!, HiY & 581 91 Tl 5| SEA @ 396 @R aFen He at
I8 P18 H ARGD! W (U G B URAN B B HiY Bl THS €1G 3P APy Yo Iae gY, o8 G g& & HelH 1)
Ugd T AR & He, & GHIYME 3dd: ¥ 1911 H g3 o1a Wiy, WG Sl &1 Ud G 91 @I G- I 9gHd, §ofl 3R
ST A Wi @1 giud 51 {6 98, ARed! | Ui 3981 & SF9R $8 4l $R Gavdl ¢l 37 Sdel & Ugl g 1 3 9HIYH Y
S H, Wi SR 1 ARG & il &l D@ H e BT DR 21 Ul foi-db 99 & & (oY Hicarsil of ol i

Which of the following countries was allowed to have colony in Morocco?

1. Britain

2. France
3. Germany
4. Spain

(Option 1 [28289]) 1
(Option 2 [28290]) 2
(Option 3 [28291]) 3
(Option 4 [28292]) 4

Fafefad few 2 @ AR 7 3ufHdw 99H &t At & 157

1. fge=
2.
3. ST
4. T4

(Option 1 [28289]) 1
(Option 2 [28290]) 2
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(Option 3 [28291]) 3

(Option 4 [28292]) 4
Answer Given by Candidate : 2

Sl. No.149
QBID:22201049

Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long period of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Congeo to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,
the people of French Congo or Morocco, whose territories were being bargained, had no say.

Frafafa T 1 wryde ey ok et vt & I i

TR 3R SMBTHT 31 GHogare! [aord @ Wihdl & 91Y-91Y XIUg GeTegare) Qiadl & sid Sabe Uiaaiadl ik 9uy off oI
2| FuiaRn R ufaeadl gd U g 31 Rl 309 B3d 91 g, 395 I Sifeiy Tuul @I ZI0 & T Hall H o fomn
S 4T 3R g5 ed 91d 41 U 2], $9 W S & a9 @ ad? UideH 31 58 & ¥H R 3 & YR W 30
wfaafadl & aral -HH-U1 o= SH I &7 AU HEN- BT THIYH Bl A1 Iareu & o 3y 1904 H niaga! aral, e aHf
%o B g5 & HeH a@ Ugdl (G4 UT, B w6l 3afY & s o W e 3R W9 7 e 1 993idr oo s gr1 fges &t
e 5 o9 Wt &3 @1 Wdadl &1 713 3R 39 Ugel H ARdd], HiY & 381 91 U1l §d SE- & 386 aR H JHoRT Hel al
5 1Y Y JRaD! W 30 T1d BT URAN B3 B AT S| TH 916 3D RIPE Yoe I gU o8 WU 45 & JgH W
Ugd 41| HRad! & G, $ GHHME 3ida: 99 1911 F g3 99 1Y, WG Sl &1 U 259 9541 @ & TR 854, g3 3R
S A e @1 giad e i 98, aRe®! o o0 391 @ S8R 8 T 3 9%dl 6| 37 S@el & Ual 84 I1 3@ 9HYH g
o H, B @I a1 9Ra®! & Al & e o ded &I ABR el U1 i T97 &7 & Y diarsh 8l @i off)

Which among the following European powers were involved in tussle over Morocco?
A. Britain

B. France

C. Germany

D. Spain

Choose the most appropriate answer from the options given below:

1. A and B only

2.A, Band Conly
3.B, Cand D only
4. A, Cand D only

https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d 94/97



3/24/23, 9:37 AM https://test.cbexams.com/ugc/ugcrespp2/UGCCandResponse.aspx?htno=UN9FFhg93YzdymtjMXHQCw%3d%3d
(Option 1 [28293]) 1

(Option 2 [28294]) 2
(Option 3 [28295]) 3
(Option 4 [28296]) 4

fafafad i it wfeaal & 99 IRaD! &l Td ST 2
A foea
B. /BIE
C. SHHT
D. T
14 feu e fowenl H 9 981 9w 9 :
1.%ad A 3R B
2. g A, B3R C

3.%aaB, C 3R D
4.HFAA, CARD

(Option 1 [28293]) 1
(Option 2 [28294]) 2
(Option 3 [28295]) 3

(Option 4 [28296]) 4
Answer Given by Candidate : 2

Sl. No.150
QBID:22201050
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Read the passage and answer the questions that follow:

The process of the imperialist conquest of Asia and Africa was accompanied by intense rivalries, and conflicts among the
European imperialist powers. The competing claims over colonies often created conditions of war. However, generally, most
of these conflicts were resolved in the conference rooms of Europe and wars were avoided. The European powers settled
their rival claims which country would acquire which territory on the basis of quid pro quo or 'something for something’, by
giving away something in exchange for receiving something. For example, in 1904, after a long period of conflicting claims,
which had brought them almost to the point of war, Britain and France entered into a secret agreement whereby Britain was
given a free hand in Egypt and in exchange Morocco was to be given to France. When Germany came to know about it, she
demanded that France relinquish her claim to Morocco. A series of international crises followed, bringing Europe to the brink
of war. The Moroccan issue was finally settled in 1911 when France agreed to give a portion of French Conge to Germany
and Germany informed France that she could do what she liked in Morocco. In creating these crises and in resolving them,
the people of French Congo or Morocco, whose territories were being bargained, had no say.

frafefa T o1 urgds ufey ok efia ust & s S

U 3iR IMBIET &1 GHTadIe] Ao @ Uidhar & 9ry-91y R Yeaard! Afeadl & ad Sape uidgfadr ok Juy of S
2| FuiHaRn R ufaeudl g U 4= 31 R 309 BXd Y1 g, 395 9 eI Susl $f DRI & GHcH all H o fomn
ST o1 3R g od 9id 41 AU W], $% W &3 & Uas 56 ¢ WdaH J1 58 & ®F R $8° & HAYR IR 304
wicElEal & Sl -HH-91 ¢/ DI 91 &5 AU - BT GATYH Bl 47| IS & [T 9y 1904 H wiagal aral, o gFf
S Bl G & geH ad Ugdl a1 ol, @I arl 3afY & did 9IH R e SR w9 3 U T YHsial [dhal e gRI f§ea @
e & o9 1t o @ Wdaal 31 73 SR 3Ud a9 & ARaw!, HiY & 581 91 Tl 5| SEA @ 396 @R aFen He at
I8 P18 H ARGD! W (U G B URAN B B HiY Bl THS €1G 3P APy Yo Iae gY, o8 G g& & HelH 1)
Ugd T AR & He, & GHIYME 3dd: ¥ 1911 H g3 o1a Wiy, WG Sl &1 Ud G 91 @I G- I 9gHd, §ofl 3R
ST A Wi @1 giud 51 {6 98, ARed! | Ui 3981 & SF9R $8 4l $R Gavdl ¢l 37 Sdel & Ugl g 1 3 9HIYH Y
S H, Wi SR 1 ARG & il &l D@ H e BT DR 21 Ul foi-db 99 & & (oY Hicarsil of ol i

Given below are two statements:

Statement I: France allowed Germany to exercise full control over the French Congo.

Statement II: France went to war with Britain in 1904,

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is carrect but Statement Il is incorrect.
4, Statement | is incarrect but Statement Il is carrect.

(Option 1 [28297]) 1
(Option 2 [28298]) 2
(Option 3 [28299]) 3
(Option 4 [28300]) 4
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el By RS

@Y - | : i A ST D1 B SR W gui g Rt B4 ©1 gHfd 2l
@Y - 11 T 3 a9 1904 H f3eT & 91y g5
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1. B4 | 3R 11 S T B
2. ®YA | AR NI GH TEd 2
3. ®YA | T2l ¢, fooeg YA 11 TTed B
4, Y 1 7Ted § |, fb=] &Y= 11 T B

(Option 1 [28297]) 1
(Option 2 [28298]) 2
(Option 3 [28299]) 3

(Option 4 [28300]) 4
Answer Given by Candidate : 2
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